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The question paper consists of 7 questions.
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4. Question No. 1 has five parts (a) to (e). Attempt any

three.

Answers may be written either in English or Hindj:
but the same medium should be used throughout the
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1. (a) Identify the type of research study from the
perspective mentioned in the brackets. Justify your

answer !

(i) Developing a'samplihg technique that can
be applied to a particular situation.

(Application)

(ii) Studying the impact of technology on
“employment. (Objective)

(11i) Deséribing attitudes of workers towards

management. (Mode of enquiry)
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(iv) Explaining why stressful living results 1n

heart attacks. (Objective)

(v) Studying the effectiveness of an
immunization programme n controlling

infectious disease. (Objective) (5)

(b) Based on the criteria specified in the brackets,
suggest the most appropriate study design for
conducting research on issues mentioned below.

Justify your answer.

(i) To study the health needs of a community.

(Number of contacts with the study

population)

(i) To study the effect of an advertisement on
the sale of a product. (Number of contacts

with the study population)

(iii) To study the changes in the incidence of a
disease. (Number of contacts with the

study population)

P.T.O.
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(iv) To study the utilisation of land before (he
Second World War in Europe. (Reference

period of the study)

(v) To study the employment pattern of a batch
of accountants who graduated from a
untversity in 1985. (A study design used

in Quantitative research) (5)

(¢) A questionnaire seeks to find the attitude of
employees towards a new software. It consists of
five statements, cach having five possible
responses.

For a ‘positive statement’, the corresponding five-

point numerical scale is as follows :
Strongly agree-5, agree-4, uncertain-3, disagree 2,
strongly disagree-1

Gtatements 1, 2 and 4 are ‘positive statements:

whereas 3 and 5 are ‘negative statements’

The responses of two individuals A and B are

mentioned below.
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Calculate the attitudinal scale using Likert scale
and find out which individual has a more positive

attitude towards the new software. (5)

In each of the following cases, state which

sampling technique is being used :

(1) Out of the chits of 60 students, 15 are
picked up from a bowl for their selection

in the cricket team.

(ii) The ratio of males to females in a locality
is 3:2; the population is divided into males
and females and sample is drawn from each

stratum in the same proportion.

(iii) The researcher decides which student is
most likely to give information on the quality
of teaching in the institution.,

P.T.O.
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(iv) The researcher comes across a doctor with
cancer patients and he further helps the
researcher to approach his doctor friends

(v) After selecting the first element of the

sample, every fifth element is a part of the

sample. (5)

(e) What are the stages of data processing in

quantitative studies? Suggest a way 10 code the

following questions :
(i) Your current age (in completed years)

(i) Your religion: Hindu/Christian/Muslim/Sikh/
Other

(iii) What is your opinion about the role of

social media in decision making? (5)
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2. (a) Define Research. List the operational steps
involved in the ‘eight-step model’ for carrying out

research.

(b) Discuss any five ethical considerations to be kept

in mind concerning research participants.
(c) (1) What 1s stratified random sampling?

(11) Briefly explain the three principles that guide

sampling in research. (5x3=15)
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3. (a) Discuss four functions that literature review

performs in a research study.

(b) Explain the following types of validity; in

quantitative research :
(1) Face and Content Validity

(i) Predictive and Concurrent Validity

(c) How is research writing different from other types
of writing? List any four well- established systems

of writing bibliography. (5x3=15)
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4. (a) Explain briefly the steps in formulating a research

problem.
(b) List the major contents of a research proposal?

(c) (i) For the following studies, name the method
of data collection that you would use oyt of
the methods given in parenthesis, along with

the justification for the same :

I. Research regarding dietary habits of a
tribal population. (Observation methoq,

Interview method)

P.T.0O,
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2. To know the opinion of people about

social security scheme. (Structureq

Interview/Unstructured Interview)

3. To find out the levels of educational
- qualification attained by a community,

(Questionnaire/lnterview)

(i) Describe two factors that can affect the

inferences drawn from a sample.
(5x3=15)
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5. (a) (1) How is hypothesis of no-difference different
from hypothesis of difference? Give one

example of each type to support your answer.

(i) What are double-blind studies?

(b) What is a research design? Discuss the two main

functions of a research design.

(¢) ‘Graphical representation often makes it easier
to see the pertinent features of a set of data’.
Briefly explain any five types of graphical

representation. (5x3=15)

P.T.O.
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6. (a) Explain how do reactive effect, maturation effect
and regression effect work as disadvantages of

the before-and-after study design?

(b) (i) Ilustrate the difference between an
extraneous variable and an intervening

variable with anp example.
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(i) Discuss the four types of measurement scales

used in research.

(c) Briefly explain the two types of observation
method of data collection. What are the problems

with using observation as a method of data

collection? (5%3=15)
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7. (a) (i) What is the difference between an active

variable and an attribute variable?

(i) Categorize each of the following as a concept

or a variable :
1. Satisfaction
2. Gender
3. Self-esteem
4. Attitude

5. Income

(b) “Research 1s a process for collecting, analyzing
and interpreting information to answer research
questions. But to quality to be called research,
the process must have certain characteristics.”
Briefly explain any five of these characteristics

of research.

(¢) (1) Give three ways for making an effective

questionnaire.

T —— p - =
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(ii) Outline the differences in writing a report in

quantitative and qualitative research.
(5%3=15)
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Section — A

[dentify the following extract and comment with

reference to the context:
'"Dear Friend - You have not discarded your tradition
Its roots go deep in your mind

And that's true, true, true. ' (10)

Write a short note on how Yeats uses culture and
myth to talk about women in his poem. 'A Prayer for

my Daughter'. (10)

[dentify the following extract and comment with

reference to the context:

"You may write me down 1n history

With your bitter, twisted lies,

You may trod me in the very dirt

But still, like dust, I'll rise." (10)
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Identify the following extract and comment with
reference to the context:

"But someone still was yelling out and stumbling
And floundering like a man in fire of lime. —
Dim through the misty panes and thick green light

As under a green sea, I saw him drowning." (10)

Write a short note on Roland Barthes description of

toys in his essay 'Toys" (10)

Section — B

Mental enslavement to the Brahmanical discourse of
superiority, purity and perfection, as well as lack of
self-awareness and of one's individual rights, are the
reasons that contribute to Dukhi's tragic death. Do

you agree? Answer with reference to Premchand's

'Deliverance. (15)

Atwood's 'Reincarnation of Captain Cook' is an

engagement with the sexual subjugation of women.

Comment critically. (15)

P.T.O.
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To what extent do you think Roger Mais in 'Blackout’
explores different layers of difference that define even
casual interpersonal relationships? Explain with

instances from, and analysis of, the text. (15)

A nuanced awareness of the individual and social
consequences of war and violence is necessary if we
are to imagine alternative ways of addressing human
conflicts. Discuss with reference to one or more texts

from the section 'War and Violence' (135)

Critically comment on the theme of nostalgia explored
i Chitra Banerjee Divakaruni's 'Indian Movie, New
Jersey’, and Imtraz Dharkar's 'At the Lahore Karhai'

(13)

(4000)
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Unique Paper Code: 11013401
Name of the Paper : Documentary Production (SEO)
Name of the Course: B. A (Hons) Journalism

Semester : IV

Duration : 3 hours
Maximum Marks : 75 Marks

Instructions for Candidates

Write your roll no. on top immediately on the receipt of the question paper.

Candidates must attempt any three questions from Part A and any three questiouns from Part B.
Questions in Part A carry 10 marks each and questions in Part B carry 15 marks each.

Write your roll no. on top immediately on the receipt of the question paper.

Part A
Attempt any three Questions. All questions carry equal marks
(3 x 10 = 30 marks)

Q! Discuss the concept of Realism in Documentary films.

Q2 What do you understand by Documentary Treatment? Write an example Treatment for a
documentary.

Q3 Give a brief on different stages of Documentary production.

Q4 Discuss different forms of editing used in documentary production.

Q5 What are the different ways of funding a documentary film?

Part B
Attempt any three questions. All questions carry equal marks
(3 x15=45 marks)

Q6 What are the differences between Participatory and Observational Modes of Documentary
representation”?

Q7 What are the various research methods used in Documentary production?

Q8 Give a detailed account on Documentary Cinematography.

Q9 What are the different types of editing transitions used in Documentary Production?

Q10 Discuss in detail the Evolution and Growth of Documentary film Movement in India.




[This question paper contains 3 printed pages]
Roll No.:

Sf- Ao 0) QP . B6LD

Unique Paper Code: 12133905

Name of the Paper : Sanskrit Meters and Music

Name of the Course ~ : B.A. (Hons.) SEC — S'asd bt

Semester : IV
Duration : 3 Hours
Maximum Marks 75 Marks

(Write your Roll No. on the top immediately on receipt of this question paper)
(F9 WA & R € S RA 7 Preife @ @ arqen e faflg 1)

Note: Unless otherwise required in a question, answers should be written in Sanskrit or
in Hindi or in English, but the same medium should be used throughout the

paper.
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Underline the origin and development of chandahsastra, mention main acaryas of

chandahsastra.
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(a) “Leadership style varies from leader to leader”,

Elaborate the statement by explaining the various
lcadership styles . (8)

(b) How Trompénaars Cultural Dimensions theory
different from Hall’s Cultural Theory?

(7)

OR

(a) What are the traits a good leader should possess?
What is the role of the leader in an organisation.

(8)

(b) What do you mean by transformational
L.cadership? Explain in Detail (7)
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2. (a) What is the meaning of the team Group Cohesion
or Group Cohesiveness? State features of Group

Cohesiveness. (8)

(b) Group Effectiveness is really important and there
are various threats from which 1t suffers. Explain
(7)

OR

(a) What do you understand by the term Group Norm
and Group roles. Explain the different types of

Group Norms and Group Roles (8)

P.T.O.
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(b) “Group conflict and Inter group conflicts can’s
be ignored but it can be resolved”? Elaborate the

statement (7)

'(a)ﬁWWmmwmmwM??w
S Fit faemee a9

g o a7 u= 21 amem s

a1
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(a) What do you understand by Group Decision
Making? Explain Brain Storming Techniques in
detail. (8)

(b) Power and Influence in teams. Difference between

Power and Influence (7)
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OR

(a) Explain the meaning of Power. What are its types

and how it can be acquired.

(8)

(b) Empowerment or Effective Empowerment. Explain

the term its elements and prerequisites. (7)
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40 () What do understand by the term Emotional

Intelligence? Explain the characteristics of

cmotionally mtelhigent teams (8)

(b) Explain the term Team development and stage

mvolved in Team Development
(7)

OR

(a) “ls there any need to build Emotionally Intelligent
teams™. I ves then why state the reasons. What
are the strategies to build Emotionally Intelligent

Team? (8)

(b) How team Conflicts can be resolved. State 1s

three types
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5.  Write Short Note (Attempt any three -5 Marks each)
(15)

(a) Hot Stove Rule

(b) Women In Leadership

(¢) Coaching and Mentoring

(d) Leadership and social media

(¢) Qualities which help team members for Exerting

Influence

¥R A ffEn (FE 9F)
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(b) ¥ ¥ W
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Medicinal Botany
B.Sc. (Hons.) Botany (SEC)

1A%

)

Maximum Marks © 3

Write your roll number on the top immediately on receipt of this question paper.
Question number 1 is mandatory and attempt any four questions including question

number 1.
All questions carry equal marks.

All the parts of the question must be attempted together.
Draw well labeled diagrams and write botanical names wherever necessary.

a. Define the following: (any five)
(1) FFolk medicine

(i1) Rasayana drugs

(i) Nutracceuticals

(iv)  Sacred groves

(V) Endemic medicinal plants
(vi)  Ex-situ conservation

b. Expand the following: (any four)
(i)  NBPGR

(i) CIMAP

(iii) TBGRI

(iv) ITUCN

(v) NMPB

(vi) AYUSH

¢. Match the following

(i) Knowledge of Drugs

(ii) Catheranthus roseus

(iii) Rauwolfia serpentina

(iv) Cinchona

(v) Contamination of herbal drug

(vi) Azadirachta indica

(0.575=2.5)

(14 4)

(0.576-3)
(a) Meliaceae
(b) Treating High Blood Pressure
(c) Treatment of Malaria
(d) Pharmocognosy
(¢) Anti-cancer drug
(1) Adulteration

P

Vi A

r &
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a. Differentiate between (2#3=6)
(i) Ayurveda and Unani system of medicine
(ii) Biosphere reserves and National Parks

b. Explain Greenhouse technology (3.5)
a. Write short notes on the following: (any three) (2%3=6)
(1) Polyherbal formulations

(i.i) Medicinal uses of Ashwagandha
(iii)  Concept of Umoor-e-Tabaiya
(iv)  Role of NMPB in the promotion of Medicinal plants

b. Write the names of any two plants and their importance in treatment of the following
diseases/ disorders: (3.5)

(1) Diabetes

(i1) Hepatic disorders

a. Write the objectives and components of Nursery. (5)

b. Discuss the various methods of vegetative propagation of medicinal plants with the

help of labeled diagrams. 4.5)
What is TUCN red list criteria? E xplain the red list categories in brief (9.3)
a. Write the WHO guidelines for Good Agriculhlurc and Cultivation Practices. ®))
b. Explain the methods of /n-sifu conservation. (4.5

Explain the various methods of adulteration of herbal drugs and describe phytochemical
methods of evaluation of herbal drugs. (9.5)

(700}
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Sr. No. of Question Paper : 4577 E
Unique Paper Code . 32173909
Name of the Paper . SEC - Pharmaceutical

Chemistry
Name of the Course - B.Sc. (Hons.) / B.Sc. (Prog.)
Semester - 1V / VI
Duration : 2 Hours Maximum Marks : 38

Instructions for Candidates

Write your Roll No. on the top immediately on receipt

[—
.

of this question paper.
7. Attempt any four questions in all.

All questions are of 9.5 marks cach.

1 (a) Di[‘fcrentiatc between aerobic and anaerob
) derbbie

t‘crmcntation.
(3)




[S]

Wwhat do you understand by the
\ erm

Prodrug

and ‘Analogs’.
(3)

(¢) Give a brief account on ‘classification of
N d41on o

drugs’.
(3.9)

(a) Give a brief account of the importance of the
affinity. efficacy and potency in drug

(3)

term —

development.

(b) Give the steps for the synthesis of vitamin B, by

fermentation process. (3.3)
(¢) Explain the role of ™ Structure Activity Relationship
R

dc\vclopmcnt.

(SAR)” studies in drug

‘ _ . qynthests
(a) Explain the fermentation process for the syt
(3)

of Glutamic acid?

_ L alin apsone:
(b) Draw the structure of penicillin and DA
(3)
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(¢) What do You understand by cardiovascular

. : ST y [
Drugs? Give one example with its method ¢

synthesis. (3.5)

4. (a) Write short note on - (2.5x3=17.5)
(1) Drug-receptor interaction
(i1) Therapeutic Index

(ii1) Pharmaceutical aids

(b) Discuss the causes of side effects of cetirizine.

(2)
5. (a) Define and give one example cach for (2x3-¢)
(1) Antipyretic agents
(i1) CNS agents
(iii) Broad spectrum Antibiotics

(b) Discuss the industrial production ol Cigyye aeid

through a flow chart. (V4

"0




4577 4

6 (a) Differentiate between : (3x2=6)
(i) Essential & non-essential Amino acids
(ii) Side effects and toxic effects of medicine

(b) What do you understand by antiviral Drugs?

Give one example with its method of synthesis.

N

(3.3)

(1000)
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Maximum Marks : 38

Instructions for Candidates

l.

3]

§)

Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt any four questions.

All questions carry equal marks.

(a) List the main ingredients in the preparation of
talcum powder with their importance.

(b) What are the ideal characteristics of suntan
lotions?

(c) Write the full form of BIS, FDA and NMF,
(3.5,3,3)

(a) Name the cosmetics in which rose oil is used.
(b) What are the ideal characteristics of nail lacquers?

What is the role of nitrocellulose in nail lacquers?

P.T.O.
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3.

6.

(¢) What 1s the role of surfactant and thickener in the

preparation of shampoo? Explain with examples.
(2,3.5,4)

(a) Which properties of sandalwood and Eucalyptus
o1l are used in the cosmetic preparation?

(b) Name the chemicals which give the flavor of

Banana and Apple.

(¢) Explain the preparation and ideal characteristics
of soap. (3.5,2.4)

(a) What are the ingredients used in the shaving
cream?

(b) What is the difference between deodorant and
antiperspirants?

(¢c) Name two preservatives used in various powder
preparations. (4.5,3,2)

(a) Explain the different types of hair colours available
in market.

(b) Explain the Skin Protection Factor (SPF) of
sunscreen cream.

(c) What is the difference between cold cream and
vanishing cream? (4.5,2.5,2.5)

Write short notes on:
(a) Method of preparation of lipsticks
(b) Nail polish remover

(¢) Toothpaste and Tooth powder (3.5.3,3)
(500)
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Sr. No. of Question Papcr: 4581 E
Unique Paper Code 32343407
Name of the Paper ; Android i’rogramming (SEC)
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Duration : 2 Hours Maximum Marks : 25

Instructions for ‘Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper. “~

| _
2. Section A is compulsory.

3 Attempt any three questions from Scction B.

4., Parts of a question must be ;pnswcred together.

SECTION A

and SDK in android. Give an

1. (a) Explain API levels
)

example Qf APL

P.T.O.
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v o 2 . .
/ ' (b) Write java ¢ode to display a toast with a custom
P
| message, for a longer duration. (2)

[ . -
y | : (c) What are the different types of Context in Android,

and what are their respective use cases? (2)

k (d) Explain the following : ‘ , Q)

(i) minSdk, compileSdk and targetSdk in
build.gradle.

(i) android:exported="true of an Activity i

Manifest.xml”.

, (e) Write difference for the following: (2)
(i) Parcel and Bundle
| (i) View and Viewgroup
\ .
SECTION B
and

n Implicit
¢ 1o supp?”

()

2. (a) What is the difference betwee

: 1ppe
Explicit Intent. Write Java code snipp

your answer. : l

1




4581
(b)
3. (a)

3

How would you define the concept of intent filter
in the context of Android development, and what
are the applications of tth thrge elements - action,
data, and category - that areat?pically used In

intent filters? (3)

Write java code for sending a broadcast on click
of a button and on receiving the broadcast generate
a toast with a message “Hello from Android”.

Make suitable assumptions. (2)

(b) Differentiate three types of menu in android. Give

(a)

(b)

- XML code to create an option menu listing names

of any five countries. (3)

List the methods from Async Task AP] and

Describe any two methods of your choice by usine

an example. (2)
How can you use the Thread class in Java (o
generate random numbers every 5 seconds and

display the number on a Text View in an Activity?

What are the necessary methods that shoylq be

overridden and Interfaces to be‘implememcd
associated with the Thread class to senerate
random numbers and update the UJ? )

P.T.O.
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N

0.

(a) What are the benefits of using fragments in an
android application? List the methods of fragment

lifecycle. (2)

(b) What are notifications in Android, how pending
intent is associated with notification? List the steps
which are required as per the build version of

Oreo and above to post a notification. (3)

Write the main classes which are used to create
and manipulate SQLite databases? What is the role
of the Content Values class and Cursor? Give code

snippets of Content Values and Cursor to support your,

answer. , (5)

(1000)
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Instructions for Candidates

l.

Write your Roll No. on the top immediately on receipt of this question paper.

This question paper has four questions in all.

All questions are compulsory.

Use anyone of the CAS := Mathematica/Maple/Maxima/any other to answer the questions

Q1. Attempt both parts (i) and (ii).

0) Fill in the blanks 1X5=5
a. The line numbers assigns to the input as ........
b. You can obtain information about a specific command by typing.........
¢. The command to calculate  to 100 decimal places is .......
d. Lines are terminated by ....... to suppress the output
e. The command to calculate the binomial coefficient (J) is .........
(i) Explain any FIVE of the following ‘R’ commands in short : 1x5=5
a. qqnorm( )
b. read.csv()

P.T.O.
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c Is()
d rm( )
e. as.character( )
f. tail( )
Q 2. Write a short note on any four from the following: 2x4=8

(1) How to include exclusions and gridlines in a plot in any CAS. Also explain the
difference between them.

(i) Haw to put a logarithmic scale on horizontal axis in a plot of 2¥ in any CAS.

(1i1) How to sketch a contour plot in any of the CAS.

(iv) How to plot 3-dimensional surface in-any CAS. Explain it by an example.

(v) How to form a new matrix from two existing matrices of same order by stacking
them on top of each other in any CAS.

(vi) Explain the rules for defining a function in any CAS.

Q3. Do any four from the following: 2x4=8

(i) Write the command for sketching the curve
y=((x-1)% —2<x<2, withcolourof the curve blue

(i1) Write the command for plotting the graph of the following:
y=e*cosx, z= e sinx, 0<x<5.

1 00
(iii) A= [2 3 0]
3 51
Write commands for generating:

a. Eigen values and Eigen vectors of Matrix A
b. Diagnolise the matrix

(iv) Write the output of the following commands in the statistical software ‘R’

>Garden=c(47,19,50,46,9,4)

>Hedgerow=c¢(10,3,0,16,3,0)

>Parkland=¢(40,5,10,8,0,6)

>Pasture= ¢(2,0,7,4,0,0)

>data=c(Garden, Hedgerow, Parkland, Pasture, Woodland)
>bird=matrix(data,ncol=5,dimnames=list(c('Blackbird','Chaffinch',Great ’
Tit,'House Sparrow',Robin';Song Thrush'), ¢('Garden', 'Hedgerow, ‘Parkland
'Pasture')))

>bird

B
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(v) Write command for solving the system of equations:
Xx+2y+32=2, x-y+3z=0; 2x+3y—4z=2

Q4. Attempt any three parts from the following: (4X3=12)

(i) Write-code of the following in software- R:
-a. Make a list “L1” in software R, containing following vectors:
VI={p,q,r,s},V2={2,3,4,5}and V3 ={1.5, 3.5, 8.5}.
b. Write code to extract V2 from L1
c. Find square root of the mean of V2.’
d. Add V4= {3, 7,5, 11} at third position in the list L1.

(i) Consider the following dataframe object ‘x’:

C1 €2 €3 C4 C5
Rl g 15 53 28 1
R2Z 23 7 35 55 9
R3 7 g 1 6 17
R4 11 14 56 3 32
RS 9 2 12 45 5§
R6 12 18 9 3 18

Write code of the following in software- R:

a. Find the column means and column sums of ‘x’.

b. Find the minimum and maximum values of the dataframe ‘x’.
Create a scatter chart of ‘x’.

(iii) Explain difference between the following in software-R
a. as.data.frame() and data.frame() commands.

b. matrix and data fame.
c. order() and rank() commands.
d. vector and list.

(iv) Write possible R commands for the following questions:

C1 €2 €3 C4 Ccs
Rl 12 5 35 8 12
R2 43 27 32 5 5
R3 21 10 11 16 19
R4 5 11 16 10 23
R5 13 2 12 42 5
R6 10 14 8 20 30

P.T.O.
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© a0 o

Create the above matrix ‘z’.

Extract second column of ‘z’.

Make Histogram of row “R2".

Convert this matrix into dataframe.

Find standard deviation of vector “R3” of the converted dataframe

(3500)
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Name of the Paper : Radiation Safety
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Instructions for Candidates
[.  Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt Five questions in alll Al questions carry
cqual marks.

3. Question No. 1 is compulsory

4 Use of non-programmable scientific calculator s
allowed.

1 Attempt any five of the following questions

(i) What is the relationship between binding eneroy

and stability of isotopes?

(i) Discuss the properties of alpha, beta and gammag

radiation.

P.T.0O




(iv)
(V)

(vi)

(vii)

(1)

(111)

Distinguish among absorbed doge etiuival
dose & effective dose. ent

Define Annual Limit of Intake (AL[)?
What is meaning of KERMA? Write it ] unit?

How do neutrons interact with matter? How are
they used as moderators.

Explain the working principle of PET?  (5x2)

How is Bremsstrahlung produced? How is it
different from the production of characteristic
X-rays. Explain using a labelled diagram and a

graph.

Explain the concept of nuclear cross section
using a schematic diagram. What is Q value of
a nuclear reaction? Name the different types of

nuclear reactions.

Assuming the nuclear radius R for an atomic

nucleus of mass number A to be given by R =

R, A'3, were R, = 1.2 % 10!5 m, calculate

the density of nuclear matter in kg/m®. Also

. . nAQ nit
determine the number of nucleons per t

166 % 10%7ke:

volume, mass of one nucleon = :
(3149'))



(i1)

(iii)

(i1)

(iif)

N

(1)

(i)

3

Explain the terms (a) mass stopping power (D)
fange (c) straggling.

Explain the phenomena of pair production 11!

connection with gamma ray radiation and
Cherenkoy radiation.

The emitter in a photoelectron tube has @
threshold wavelength of 6000 A. determine the
wavelength of the light incident on the tube if
the stopping potential for this light 1s 2.5 V.

(3,4,3)

Define linear and mass attenuation coefficients

along with their units

Explain what are sealed and unsealed sources.

The half-life of Po-210 is 138.4 days. An anti-
static plate is obtained with an activity of 300

uCi. What is the activity 3 years later?

(3.4.3)

Give the basic principle and explain working of

scintillator detectors.

Explain the basic concept and working p, neiple

of solid-state detectors.

A
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(i) The active area of a scintillator detector is

30 mm?. A radioactive source jg kept at a
distance of 5 cm from the detector and spectrum
1s obtained. Calculate the solid angle subtended
by the detector. Comment on how the detection

efficiency of the detector will be affected.
(3,4,3)

6. (1) What are the main biological effects of ionizing
radiation?

(i) Write the main principles of International
Commission on Radiological Protection (ICRP)?

(111) Give a short prologue of accelerator driven Sub-
critical system (ADS) for waste management.
(3,4.3)

7 (1) What is the basic principle and working of

projection imaging gamma camera?

(11)

Mention any three applications of nuclear
techniques for industrial uses and give their
details with examples.

A tumor on a person’s leg has a mass of 3.0 g.
What is the minimum activity a radiation source
can have if it’s to furnish a dose of 10Gy to the
tumor in 14 min? Assume each disintegration
within the source, on the average, provides an
cnergy 0.7 MeV to the tumor. (3,4,3)

(1000)
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Instructions for Candidates

.  Write your Roll No. on the top immediately on receipt

of this question paper.

2. Attempt a total of five questions in all.

3. Question 113 compulsory.

4. All questions carry cqual marks.

Non-progr

S

. (Attempt any four)

(i) Ho

the convergenc

Expl

ammable scientific calculator is allowed.

w the choice of initial guess Is important for
¢ of Newton Raphson’s Method

qin with suitable example.

P.T.O.
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>

. by 3
, - 2 .
(i) Evaluate the integral j0(2x—x )dx taking 6

intervals by Simpson’s 1/3 rule

(iif) Explain the geometrical interpretation of Eular’s
method. What improvements is done in modified

Euler's method for better results?

(iv) What do you mean by backward differences?
Write the format of backward difference table.

(v) IfTT1s approximated as 3.14 instead of 3.14156,

find the absolute, relative and percentage errors.

Also explain each type of errors.

(vi) Explain with example, how the generalized

Newton Raphson’s method is faster than Normal

Newton Raphson’s method. (2.5%4)

find a root of the equation

[0,1_5] correct up
ical

Using secant method,
& 3x2 4+ x + 1 =0 in the interval
. ot sometr
o three decimal places. Explain the geo!
(8+2)

<ionificance of fixed point iterat1o

1Oy
19381
e,

n method.

or & and the

(1) Define the central difference operal

averaging operator p. Prove that :

)

“
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(i1) The population of a town in decennial census
were as under. Estimate the population for

the year 1955 using Newton's interpolating

polynomial,
Year 1921 1931 1941 1951 1961 |
Population (in 46 66 81 93 101
thousands)
(3+7)
4. (i) Using the method of least squares, obtain the

normal equations for power function of the form

y = ax’.

(i) Determine the best power function fit to the

following data points :

y 1200 900 600 200 100 50

(4+6)

5 The following table gives the angular displacements @
(radians) at different intervals of time t (seconds)

_,_t__———a——-'-"‘(j'b—z—— 0.04 0.06 |0.08 |0.10 [ 0.12

0052 | 0105 | 0.168 | 0242 1032710408 |0.489

I—————

Calculate the angular velocity at the instant t = () ¢
sec. (10)
P.T.O,
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6.

Evaluate

HBE

with h=0.25 using (i) Simpson’s 1/3 and (i1) Simpson’s
3/8 rule. Explain which method gives better accuracy
and why. (4+4+2)

Given the differential equation

dy _

X
dx i

with y(1) = 5. Find the solution at each point in the
interval [1, 1.4] using Euler’s method, taking step size
h=0.1. (10)
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| (a) Select the most appropriate option :—

(i) Which amongst the four industries 1S most

waste generating? The E-factors have been

specified.

(a) Oil refining 0.1

(b) Bulk Chemicals <I-5

(¢) Fine Chemicals 5-50
25-100

(d) Pharmaceuticals

(ii) Which of the following legislations gave birth

to green chemistry initiatives?

(a) The Clean Water Act of 1972

(b) The Montreal Protocol of 1989

(c) The Pollution Prevention Act of 1990

(d) The Superfund Act of 1980

Green

(ni) What is the U.S. Presidential

Chemistry Challenge Award?
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3

(a) An award related to recycling
(b) An award for industry only

(¢) The only chemistry award given by the

President

(d) Challenges companies to become fuel

efficient

(iv) Which of the following are among the 12

Principles of Green Chemistry?

(a) Design commercially viable products
(b) Use only new solvents

(c) Use catalysts, not stoichiometric reagents

(d) Re-use waste

(v) The second listed of the 12 Principles of

Green Chemistry is:
(a) Prevent waste

(b) Catalysis

P.T.o
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-

(¢) Atom economy

(d) Benign solvents

(VI) e 1S AN cXample of pregy elieron

Source.

(a) Microwave

(b) Ultrasound

(¢) Sunlight

(d)y All of the above

(b) Fill'in the blanks with the appropriate word(s) (any

five) -

(1)

(11)

(11)

{ the toxic organi

aning purposes:

— IS once o
solvents used for the dry cle

N . > 'C]
is extracted from orangt pe

: i : ) 1ce.
using liquid CO, prepared from dry

| the pareuncter

i y . .
Roger Sheldon introduced
ucn”.‘/

L for
e which is used fred

measuring waste generated

mdustrial processes.
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(iv) Green Chemistry Principle No. 8 say$

(V) is the full form of Three
R’s.

(vi) Rearrangement is an example of atom

reactions.

(¢) Expand the following (any three) :—
(1) VOCs
(i) ISD
(iii) EPA

(iv) TBTO (6,5,3)

5. (a) Define Rightfit™ pigments. What are the
associated advantages of using these pigmentg?
Describe the synthetic pathway taking any

example.

P.T.0O.
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(b) What are the problems associated wigp

| ¢
conventional solvents? Which solvents classify

ssify as

green? Comment on the use of any of the gree

Jreen

solvents highlighting its applicability.

(c) What properties of a biocatalyst make it relevant

in green chemistry? Give one industrial application

of a biocatalyst. (4,4,4)

(a) What are antifouling agents? Discuss why

(O'S)

SeaNine™ js considered as a safe marine

antifoulant in comparison to the conventional

one.

(b) Categorize each of these reactions (addition/

elimination/substitution/rearrangement) and

calculate the atom economy :—

CH3

CHs
1) HC OH HiC cl
(1) \(‘3 e \C/ s HO
l + HCI —m> ,
CH, CHs

“ + H0 + KC
(11) + KOH —
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(¢) Explain the following briefly and correlate O
the principle of green chemistry involved (any

two) :
(1) Surfactants for carbon dioxide

(ii) PLA synthesis from corn

(iii) Solvents obtained from renewable

resources

(iv) Asymmetric catalyst (4,4,4)

4. (a) Compare the two routes provided below for the
synthesis of urethane. Which is greener and why?
Explain the principle involved.

. ROH
(1) RNH, + COoCly — RNCO +2 HCI — RNHCOOR’

|
) ) ROH
(i) RNH: +C0; ——> RNCO+H:0 ———> RNHCOOR'

(b) Biodiesels have emerged as cleaner alternative tq
the conventional fossil fuel based sources. Jyustif

S. y

the statement. Give the reaction involved

b

hiohlighting the green principles.

P.T.O.
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epresenti
prevention hi ' e |
ierarchy indicating th S
€ option
S to

manage waste I
. Which is the least
preferred

option?
(4.4.4)

(1000)




l

[This question paper contains 4 printed pages.]

Your Roll No..ccooenreeee
FATTDT FAAHHATD oveveeeee?
Sr. No. of Question Paper : 1702 F
Unique Paper Code 3206001002
Name of the Paper - Political Leadership and
Communication
Name of the Course : Skill Enhancement Course
[SEC]
A HT AR . fenet TaEiaic @ [gaddl)
Semester/Annual o 11
AT /s
Duration : I Hour Maximum Marks : 3

Instructions_for Candidates

I Write your Roll No. on the top immediately ¢y, Fece:
®ipt

of this question paper.

Attempt Any Three questions.

o

3. All questions carry equal marks.

Y
l'].().
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4 Answers may be written either in English or Hind;
’ ' [

but the same medium should be used throughout the

papt‘l'.

ol @ forg fdw

| @ WE-TF @ el & Iw Ry o Pl e s
FFHIE oy |

2. el 9 wEAl & IR Ao |

3 At U & F N # |

4. TH Y- 9T F IR Ao 41 B fomd v s A Sifvie, IfF
74 ITR 1 WA UF B BT AR |

L. What do you mean by Communication? Explain various
dimensions of Communication.
T A I gy £ 7 Ghew & fafag s df 2
Fifs |

2.

a1 . : .o iererent theories.
What g Leadership? Explain 1ts different
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Age w7 gae ffay g o ewen AT

o) D o A . . . X
3 Discuss different models of Communication.

Wy & At wfwm @ e afse

4. An effective Political Communication is the key to

the success of Political Leadership? Discuss.

Wmmwmﬁqﬁﬁm?ﬁ
= 2 PR AR

Discuss different techniques of strengthening Political

]

[_eadership.

?Taﬁ%iﬁgﬁﬁmﬂﬁﬁﬁﬂmﬁiﬁﬁ%am
Eaimiell

6.  Define survey research. Discussits Key challenoeg -

contemporary times.

PT.o
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g Mel
Tl gRETEE SHRT | Gl 99g A Fa&0 My
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Your Roll NO.oossooseee”’
Sr. No. of Question Paper : 1706 F
Unique Paper Code : 2036001002
Name of the Paper : Communication in Everyday

Life (only for SOL students)

Name of the Course - Common Prog. Group
Semester / Type . II / SEC
Duration : 2 Hours Maximum Marks : 80

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. This question paper contains only Part— I.

3 Candidates have to answer ANY FOUR questions.

4. All questions carry equal marks.

PART 1

1. Effective communication requires a lot more thap just

competence in words. lllustrate the statement wit]
]

examples. 20)

PT o
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s Discuss the elffectiveness of diagonal communic s

and comment on 1ts limitations, 3

1 What are the advantages and disadvantages of using

the telephone as a means of communication” (20,
4 Read the passage and answer the following questions

Alloys are generally mixtures of metals. For example
bronze contains about 90% copper and 10% tin. and
brass contains 60-90% copper and 10-40% zinc. Bu
steel. an alloy of iron, contains carbon — a nonmeta!
Many pine metals are soft and weak and alloyed with

other metals (or sometimes non-metals) to make them

can
LGt

harder and more robust. The strength of copper
. . . A0, . I A
almost be doubled by alloying it with 40% zinc ance

. o lted 0
1% tin. However, alloys usually cannot bepulled
as purc

it
1ii
Wl

thinly and moulded by pressurce as quickly
metals can. Also, alloys can be brittle. Though an
alloy is made by mixing two or more molten metais.
it does not remain a simple mixture like sugar and sait
when it becomes solid. In many alloys. the difteren

: .
metals are spread evenly and uniformly. Other u!m}{
als. Pure metdd

have several different types of cryst

patterns ot

tonsists of crystals made up of specilic

.
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atoms. When a metal is alloyed with another metal,
the atoms’ pattern changes. The changes in the
crystals make the alloys’ properties different from
those of the metals: for example, alloys are usually
harder and stronger than pure metals. Also, the melting

point of a metal is changed by alloying.

Pure lead melts at 327°C and pure tin metals at 232°C,
but solder is an alloy of 33% lead, and 76% tin melts
at 180°C. Many alloys are used in industry. For
example, steel is an essential alloy used in the
construction of ships, cars, and buildings. Brass is
used for making machinery and scientific instruments,
and bronze is used to make coins. Other alloys include
duralumin, used to build aircraft, and type-metal, used

in printing.

(a) What are alloys, according to the author? (2)

(b) In what ways may an alloy be better than a pure

metal? 2)
(¢c) What are the effects on the metal when it is
alloyed? 2)
(d) Define Solder, according to the passage. )

P.T.0



1706 +

(e) State some uses of alloys. (2)

(f) Write a Summary of the passage and provide an

appropriate title. (10)

5. Write a three-paragraph essay in 300 words on “Skills
arc more important than theorctical knowledge.”

(20)

6. Write a letter to your friend stating why he should
join you on a vacation that you are planning with your

friends after the exam. (20)

|
.
i
r
!

(2000)
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Your Roll No.......cceeeeee
AT HABHHTD vveveeneeees
Sr. No. of Question Paper : 1732 F
Unique Paper Code 3206001002
Name of the Paper . Political Leadership and

Communication

Skill Enhancement Course
[SEC]

qETHA T AR . Repet TABIERC I [CATH]

Name of the Course

Semester/Annual |

AT /qeE

Maximum Marks : 30
quite ;30

Duration : 1 Hour

gqg ;. 1 "t

Instructions for Candidates

Write your Roll No. on the top immediately on receipt

of this question paper.
2 Attempt Any Three questions.
3 All questions carry equal marks.

P.T.0,
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4. Answers may be written either ip English or Hindj:

but the same medium should be used throughout the
paper.

wral & o fAds

1 wm-w%ﬁﬁﬁmﬁvwﬁuﬁamwm

2. o= = we i @ 3w Ao
3 Al v @ 3 war ¥

4. THWET- T 61 I AN 41 7 o va e ¥ S, A
o I & A v & A AR

. Define Political Communication. Discuss the changing

Nature of Political Communication.

Tyl ot fdeen 0 |

} : ries of
Define Leadership. What are various Uies

Lcadership? Discuss.
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Yge @ aReTRE i | g @ Ry Rea @ @ 27
faa=mr &hifse

3 Political Communication ensures effective Political

Leadership. Discuss.

wﬁﬁmﬂﬁwww@mﬁﬁﬁ%ﬁaﬁgﬁﬁaﬁm%l
o= ifeTe |

4. Analyze the role of social media as an effective

medium of Political Communication in contemporary

times.

Survey research develops the skill of analyzing popular

understanding of political Communication. Comment.

aﬁmﬁﬂm%@wﬁ@ﬁﬂwwmﬁgm

wqﬁwﬁmﬁmﬁﬁm%lﬁm‘ﬁmm

P.T.o
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6. Psephology is an art to understand the political attitude

and aptitude of the voter. Elucidate.

T - fAvewor Feern @ aefaw sifvafe va sl @
A W TEH FA B | W H
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Your Roll No....ccceaeseees
Sr. No. of Question Paper : 1733 K
Unique Paper Code . 2416000001

Name of the Paper

Business Communication

Name of the Course - Common Prog Group

(SEC) — UGCF Mode

Semester o 11

Duration : 1 Hour Maximum Marks : 30

Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt

of this question paper.
Answer all questions.

All questions carry equal marks

Answers may be written either in English or Hindi;

but the same medium should be used throughout the

papetr.

ot @ forg e

1.

mm—w%ﬁa@ﬁmﬁqwﬁﬁﬁawmm
SERICERICE
Faft wel @ IR AT |
qaf T B FEH A E
P.T.O.
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| e A o T SR R R o e ¥ A, A
¥t ST A T & B =R |
| Explain in brief the interactive techniques of
communication. (6)
OR
Write a short note on the ‘Barriers to effective
Communication.’ (6)
FaR & HETAE At ) g8q § qEEEyl
at
o qER ¥ e Wwaﬁmﬁmﬁﬁﬁm
) Define the following terms with reference o Writing
a research paper: Citations and Footnotes. (6)
OR
Write a short note on the bibliographical research tools
o , 6,
giving suitable examples. (6)
qfed

Hﬁuqaﬁ—ﬂaﬁaﬁaéﬁﬁfaﬂfaﬁﬁm@?ﬁ
T@(Wﬁjwl
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q1

IUFT IV Y Y U G IFEUE ImEen W OUF
Hfee feoh forfiau

What are the principles for writing of Business
Report? (6)

OR

You have recently joined Crescent Furnishings Pvt.
Ltd. as the HR manager. You witness low morale
among the sales staff. Write a report analyzing
the causes and suggest suitable remedies to the

management. (6)

fawme fad e & frera = 27

qT
3T B B W fRde Wi wede e ¥ wme danm
YEUE & €9 ¥ WA TU Bl AW 99 TR B 9 aw
TS @Y 21 HRO a6 e F 5T v kA e
3R yEU IR I G

Draft a circular informing the employees of the saljent
features of the new leave travel concession scheme
adopted by the Board of Directors. (6)

P.T.O,
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y e

4

OR

“If a business letter does not generale goodwill, it

fails in one of its major functions.” Discuss. (6)

gmﬁﬁwsﬁ%aﬂﬁmrﬁﬁraﬁqﬁmm?fngqﬁﬂ

1 w@E daR

a1

“uﬁaﬁéamﬁﬁwammaﬁm%,eﬁuﬁ
mﬁmwﬁﬁ%wﬁﬁwﬁm%n”aﬁﬁﬁﬂm

(6)

What are the features of a good presentation?

OR

Explain the process of negotiation 1n business

communication. (6)
v e e A fada @ 2l
k21
e A ¥ e g R sy
(1000)
—
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Your Roll NoO....oovureennes
Sr. No. of Question Paper: 1736 F
Unique Paper Code : 2036001002
Name of the Paper : Communication in Everyday

Life (only for SOL students)

Name of the Course : Common Prog. Group
Semester / Type - I/ SEC
Duration : 2 Hours Maximum Marks : 80

Instructions for Candidates

. Write your Roll No. on the top immediately on receipt
of this question paper.

2. This question paper contains only Part — 1.
3. Candidates have to answer ANY FOUR questions.
4. All questions carry equal marks.
PART -1
1 Define communication. Which other tools are used

for communication other than verbal means? Mention

and write about them. (20)

P.T.O.
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|

what i1s downward communication? Explain and also

(20)

discuss its limitations.

What are different kinds of communication networks?

Explain each network briefly. (20)

Read the following passage and answer the questions

given below.

The culture of nuclear families is in fashion. Parents
are often heard complaining about the difficulties in
bringing up children these days. Too much freedom in
demand, too much independence; overnight parties:
excessive extravagance, splurging pocket money; no
time for studies and family — all this is a common
cry of such families. Aren’t parents, themselves,
responsible for this pitiful state? The basic need of a
growing youth is family, love, attention and bonding
along with moral values. One should not forget that

‘charity begins at home.’

Independence and individuality both need to be

respected, in order to maintain the sanctity of family

Children today are to be handled with tact in order to
b

fidge dic ever widening generation gap. Only th
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reasonable demands need to be fulfilled, as there are
too many expenses to be met and many social
obligations to be taken care of by the parents. Our
forefathers lived happily in joint families. Children
loved to live with their cousins, and learnt to adjust
within means. There was perfect harmony between
the generations. There never existed the concept of
old-age homes. There was deep respect for the family
elders and love, care and concern for the youngsters.

Even the minor family differences were solved

amicably.

(a) Mention any two major common concerns of a

nuclear family. (3)

(b) Who, according to the passage, are responsible

for them and why? (3)

(c) Explain the expression ‘charity begins at

(3)

home.

(d) Describe the atmosphere m joint families. (3)

s of children should be filled and

(3)

(e) Which demand
why?

P.T.O.
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(f) Write a summary- (75 words) of the above passage,

in your own words and also give it a suitable title.

(5)

5. Write a letter to the Manager (Sales) of a mobile
company complaining about the defective mobile
purchased recently from them. Mention all the details

like model number, features and colour. (20)
6. Write an essay (300 words) on “The Importance and

Use of Al (Artificial Intelligence) in Technology.”
(20)

(2000)
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1 f%ﬁ%f A fauat w wférs ﬁ‘umﬁ f?{%{r; <5+5___]0)
(i) e 1 &=

(i) & R <@

(iii) qordierE @t Wi wE
). |9 TEm & e & Eiea | R wite 0 (10)

3, ﬁﬂﬂéﬁmﬁﬁﬁﬁamﬁm@mmgﬁw
(10)

(1000)
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Instructions for Candidates

. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any five questions.

3.  Answers may be written either in English or Hindi;
but the same medium should be used throughout he

paper.

! wm—ﬁ%ﬁﬂﬁﬁwﬁqwﬁuﬁﬁwwm
s fafae |
P.T.O
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@ T - T A I AN A RR R v ¥ SR A
¥l ITR T AH T & B AMRY |

Explain and three methods of Collecting Primary Data.

I AR MERE T v = ) S A

Explain any two Probability Sampling methods and
Non-probability Sampling methods.

fFel 3 wiear vl AR sk K- e
faftt = =arenm =Y

Write a short note on Karl Pearson’s Coefficient of
Skewness and Kurtosis.

F T & feem sk adife s w g w A
ford

State the difference between-

(a) Correlation and Regression

(b) Co-variance and Correlation

(¢) Coefficient of Correlation and Coefficient of
Determination

Y AT TATZ0 -

(%) weday sk wier
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6.

(@) @e-fawor sk w=gay
QIR ORI R —

(a) A bag contains 10 balls each marked with one of
the digits 0 to 9. If four balls are drawn
Successively with replacement from the bag, what

is the probability that none is marked with the
digit <0°?

(b) In a box contai'ii'ing 100 bulbs, 10 are defective. .
What is the probability that out of a sample of 3
bulbs (i) none is defective? (11) exactly two are
defective.

(F) TR A ORI IWERoA o 93 @
FH H AT FF A 2 AR A A i @
I HA T AR AR e TR F R ozme
Wi ® 6 A W AT 00 s ¥ R S 20

(@) 100 T A Bt ¥ 10 W@ ¥ @R wW whRE 2
Fsaal & FTRAAA (i) A% N @ 98 27 (ii)
e A gt B

State the difference between Parametric tests gpq
non-Parametric tests. Also Explain any two types of
Parametric tests and non-Parametric tests each

Rz T A AT T R A R e
fapeet oyl @ A Qe SR - R qiramy
EQR e FA

PO

i
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N

t
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7 What do you understand by Tests of Significance.
Differentiate between Null and Alternative hypothesis

FEeg @ UAHUT ¥ Y HT GHAQ B WA IR Aepfeuew

qReeaar & 9 HAaW

8. Calculate the index numbers from the following data

using :

(i) Laspeyre’s method,
(ii) Paasche’s method,
(iii) Fisher’s ideal method:

Base year Current year
Commodity | Price (in ) Quantity Price (in3) Quantity
Do 9o Pl qi
A 8 100 10 120
B 4 60 5 80
C 10 20 12 25
D 12 25 15 30
E 3 5 4 6 |

frfafad Y21 o1 ITANT e guehie Genst S 0T Y

(i) o=@ & fafe,

(ii) drar & ﬁn%,‘

(iif) forer = eyl fafa:
; IR a9 o], a¥
C | #wma#p | Fg | PET RF)p | FG
A 8 100 10 120
B 4 60 5 80
_C 10 20 12 25
| D 12 25 15 30

E 3 5 4 6

(2000)
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Your Roll No...ooevenenens

Sr. No. of Question Paper : 3068 E
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Sanskrit
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Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

I. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Unless otherwise required in a question answers should
be written either in Sanskrit or in Hindi or in English
but the same medium should be used throughout the
paper.

ol @ fog Fdw

1 W AE-1F @ fied & W v AuiRe we w
e foriag |

2. I FEEE T A R, 6 AT F I GG A1 Ry o
st fordt o s e, e w8 SR e v
B <IN |

P.T.O.
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maﬁ%ﬂmﬁmwmmgmﬁm
#fore | (15)

Describe the Design and Architecture of Windows

Operating System in brief.
3rerar / Or

wEERTR QAR WIEe 1 GEd URed U9 gEE wEE &
Ui oY |

Give the general introduction of Microsoft Power Point

and describe its functions.

T 9 T & qiad ST | (15)
Give the introduction of main search engines.
JAaar/ Or

T g can & R aE deeda # s e 9
Wi a1 faem ¥ g @i |

Degceri -
scribe the . S
ribe the usage methods of Baraha softwalt for

Devanapar i
vanagari Unicode typing.
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FoA FIfw | (15)

Giving introduction of HTML describe its main

elements with example.
AT/ Or

AT O3 & g A U8 gaaT vF o0l ITSHN &l
FAT TEAT FIOT |

Present the survey of text processing and preservation

tools in reference to Indian languages?

4. 3ITEE & I FHAS & GER A FOH FION | (15)
Describe major Commands of Database in detail.

At/ Or
divaua gss w1 TEH WET FEH A |

Make a sample of CSS page.

P.T.O.
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. e A R @ W R W R faf

(2+75=15)

Write short note on any two of the following :

(i) wgwrame a8 (Microsoft Word)

(i) T (Unicode)

(i) fa=erst 8 (Windows 8)

(iv) & ad T4 (Google Scarch Engine)

(200)
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Fundamentals of Remote

Sensing and GPS/GNSS
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Maximum Marks : 75

" Instruction$ for Candidates

1. Wi'ilc your Roll No. on the top immediately on receipt

of this question paper.

- 2. ../\'t'lt;jnipl all questions.

3. AII q'ucs.lions ‘c'qrry equal marks.
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‘Ai_\.é-w‘.:rs may bc written either in English or Hindi:

N

but the sanic medium should be used throughout the

papcr.

P.T.O.
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sl @ fog Fde

! WW-W%ﬁWﬁwﬁvwﬁuﬁapﬁW;m
o |eft vl & IR AR |

5 Al gl & e EEE

4. Wﬁﬁi@&ﬂﬁﬁﬂ%?ﬁﬂmwfma‘mgﬁ
Wﬁf‘s’n

4

ESiREL B PACTRCES 1Y mﬁm%ﬁ%ﬁwamﬁaﬁq 3@-_7
W%ﬁﬁﬁwmmw s?tﬁ:nzm%q1

on

Discugs the process ol remote sensing indetail: What

are the main types of remote %ens"i'nu')

Wmﬁmﬁﬁwnﬁﬁﬁmlwma}
meé? ‘

OR 3Jter@ar

Give a detailed account of platforms used in remote:

Sensing,

T T ¥ v fary oy 9 S a1 R A
A | ~

i
.
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) 1o .o . . oy :
. Discuss the concept and principles of acrial

photography.
g WITHA o) sauron 3k fagra w gdl 4 |

OR 3terar

Discuss the types and geometry of acrial photographs.

IO FEl F YRR IR SO &l = i

Lxplain the interaction of electro-magnetic radiation

(EMR) with Earth's surface. ‘
4

T HEE @ A @A g [@fer (EMR) @ seatEa

1 IR FA |
\
OR 3Hudn
Discuss major characteristics of LAYDSAT Satellie
System in detail.

Hede IwUE UOTEn @1 wiE fauivaEsn @1 fr 4 o

FfHU |

4. Describe the application of remote sensing m the study

of land usc/cover studies.
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2 ¢
arfpn T '3 ] P 3 ’ h N ~
vfft TR/ HERYT SR WO TRew B SR T
. av @ | '
OR 3rerar
3
’ Write note on the following :
| .
_ (a) Sensors
by
(b) Geostationary Satellite and Sun-synchronous
k Satellite
ffafen w afers foomit fafaw
() WA
(@) Wfter IWE vd Wl e IHE
; | 5. Define global positioning system and discuss its major

G.P.S.

principles. Discuss major principles of

e s faeew a TReniE a1 3 N———
wogal e |
OR 3tarn

ositioning System it

Discuss various uses of Global P

geographical studies.

e s @ fafer 0 e Ao BT
SYERT W el @ |

(500)
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Your Roll No...
Sr. No. of Question Paper : 3174 k.
Unique Paper Code 62136939
Name of the Paper - Indian Theatre
Name of the Course - B.A. (Prog.). Sanskrit,

SEC, LOCF
Semester S Y

Duration : 3 Hours Maximum Marks @ /2

Instructions for Candidates

. Write vour Roll No. on the top immediately on receipt

of this question paper.

2

Unless otherwise required in a question answers should
be written either in Sanskrit or in Hindi or in English,
but the same medium should be used throughout the

paper.

zral & fau fde

oz w73 & fed @ 3w fee g fiE e e s
o sl AAYEE A A W, SE AEATA F IACHGA Al e o
i fardn ek i 9 @fse, AfaE @0 390 @1 Ao v g

P O
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] - # 3394 AR faFm W y=m 'sﬂﬁ{l'{; {]5)

Throw light on the Origin and Developmen; of theatre

Fgar / OR
e wEE amd F Pl T fEER ¥ v

Throw light on the Vedic stage of Theatre in detail

2. fquaﬁaﬂﬁ%%-—%’r?ﬁawwgﬁamﬁﬁaq (5+3)

Write short note any Three of the followings

(&) tafores T (Puranik Theatre)
(@) argﬁa; QHA (Modern Theatre)
() 5w w|\aa awa (State-level Theatre)
(7) e wrE (Folk Theatre)

3 UW §) qRwr 3 g sfEies whwa & A S|

(15)

\

\nm, N N 1 N . 2 a
Defining theatre, describe the Bhumishodhand

Process
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Who is an Actor (Abhineta), describe the types of
Abhineta (Actor).

(200)
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Your Roll No..............
Sr. No. of Question Paper : 4363 E
Unique Paper Code : 52413401
Name of the Paper . E-Commerce
Name of the Course : SEC B.Com. (P)
Semester IV (CBCS)
Duration : 3 Hours Maximum Marks : 75
g 3 Hue ‘ Toite - 75

o

Instructions for Candidates

Write your Roll No. on the top immediately on receipt

of this question paper.
Attempt all questions.
All questions carry cqual marks.

Answers may be written either in English or Hindi:
but the same medium should be used throughout the

paper.

P.T.0O.
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ol & oo e

1 29 -9 @ fem § W Ry v il e wosmEr
FwATE foRew |

2. ¥ vy &ifow |

3 ANy B FF A E

4. TG UFH-UF & IH SR a1 B9 i v s A S, Afe
A IEA FT AIH U B BT A8 |

1. (a) Define E-Commerce. How does it differ from e-

business?
(b) Explain the different drivers of E-Commerce.
OR

(a) Discuss various factors which contribute to the

success of an E-Commerce business.

(b) Discuss the concerns business has to understand.

while going online.
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[

What are the various plans that should be developed
to have a successful online Web venture? Bricfly

explain the contents of these plans.
OR

(a) Explain the different aspects to be aspects to be

considered while designing a website.
(b) Differentiaté between B2B and B2C e-commerce.
What is extranet? Explain the tasks which the
companies can accomplish using extranet.

OR

Write short notes on: (Any three)
(a) E-mail
(b) Routers
(c¢) Internet Telephoney
(d) World Wide Web

(¢) Evolution of Internet

P.T.0O.
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4. What is Digital Cash? What are its advantages angd
disadvantages? Explain in brief the security

requirements of safe electronic payment system.

OR
What is an e-wallet? What are its advantages and
disadvantages? Explain the different areas where e-
wallets can be used.
5. Write short notes on any three :
(a) Firewalls
(b) Encryption
(¢) Digital Signature
(d) Site Blocking
(e) Scope of the IT Act, 2000.

OR
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Answer the following : (Any THREE)

(a) What is the difference between ordered and

unordered list using examples?

(b) What is an IMG tag? When is it used? State the
different attributes that can be used along with

the IMG tag.

(c) What is a radio button? How is it different from

checkbox? Explain using examples.

(d) What are Frames and Framesets? Differentiate

-

between them with the help of an example.

() I-=md N ofonfig A a8 $-waam A
yaR =T 87

(@) -=rE & e g @ aren g
an

(%) - aEE & qwedr A dEH w A e
HEH W g @il

P.T.O.
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4.

5.

(@) I ar3s oAd

(z) ZeweT = fawm

Rfsiest & @ 27 0@ e 3R geae @ 87 gued
AT YA AOTER @ geE Esaeherst @ waT A
LLE '

n

$_dfae T 27 TEd wEE IR JewEd @ 27 39 A
AT & e w¢ W8l s -dide &1 I fRar SroEedn
21

fF=tl | W afees feofoar fofau

(3) mETars

(@) weeET

() RRea s

(7) @rge AR

(z) mE& sfefaaa, 2000 &1 @A |

P.T.O.
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frafafaa & s Afse . (a9 @)

() INEwh & IwAnr FA gY HiAd I FHAT T A
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FETES A & Wy IwEnr & o gFA aren fabe
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(&) YR 7o @ 27 gE AFeram € A B 27 Jem
2aT GHEEY
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fave =ifs

(8000)



[ This question paper cont

o

ains 8 printed pages. |

Your Roll No.....covvennns

Sr. No. of Question Paper : 4940 E
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Name of the Paper . SEC-2: Mathematical

Typesetting System: LaTeX

Name of the Course : B.A. (Prog.) CBCS (LOCF)
Semester . AV
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J]nstructions for Candidates

J

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

All questions are compulsory.

Attempt any four parts. (4%2.5=10)

(i) Find the errors in the following LaTeX source
code and write its correct version:
‘documentclass {article]

\date {today]

\maketitle

PO,

’
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\begin {document}

We are writing \bold {boldfaced text}. Here is
mathematical expression $x=3$.

\end {document!

(1) Fill in the blanks

(a) In LaTeX, ——___ command is used ¢
give a comment.

(b) In LaTeX, line breaks are produced t
command.

(c) LaTeX is an easy-to-use version of TE
designed by

(d) — and —____ are list makil
environments in LaTeX.

(e) Write a command to get the output {x

(iii) Typeset the following mathematical express
in LaTeX :

(iv) What is the difference among \cdots, \ddots -

\ldots commands.

R : : L‘.SiﬂgjL
(v) Typeset the following 1n LaTeX
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(v1)

(vii)

(viii)

3

different mathematical environments :

X' < x" -
X y; = 10xz,,.

rertc'the difference in the outputs of the
following two LaTeX source codes :

\begin {document}

The following equation represents a circle :
\begin {equation}
x2 + y? =25
\end{ equation }
\end{ document}
and
\begin {document}

The following equation represents a circle :
\[x2+y? = 25 \]

\end {document}

Typeset the following in LaTeX in the mentioned

three ways:

A = {12}

| space, medium space and large space

(with smal
*and 2)

in between comma <

(hree commands to display

Write any ~ _
+ B, Ty = 0in

mathematical expression o,

LaTeX. ,
P.T.O.




4940 4

7. Attempt any three parts.

write the code in Latex to get the fo])

a;
(i) f+i+z’=(a%)

x, if x20

(i) f(x)= {

-x if x<0
i P cos 6 -12- 1
111 =

0 siné -:‘;

(iv) (a+b) = (a+b)'(a+b)
= (a®+b* +2ab)(a+h)
- & +bla+2a’brabt b +2ab’

- & +3d*b+3ab’ + y

Wr
r. r r
Xy +Xn+eot
V) M =] 12T e\
n ,

' (vi) [e™ = .\./_—73.
0 2
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3. Attempt any two parts. (2x5=10)

(a) Use PSTricks, to draw an ellipse with a shaded
sector.

(b) Draw a square and an equilateral triangle using

PSTricks and mark their vertices.

(¢) Plot two functions y = x + 1 and y = x* over the

domain [~1,1] on the same coordinate axes.

(d) Write a LaTeX code to insert an image of size 5
c¢m height and 6cm width, named “logo2.jpg” In
your document. Also, give the command to rotate

the image by an angle of 45°.

4. Attempt any one parl. (9)

(a) Write a code in LaTeX to create the following
beamer presentation :
Slide:1

Introduction to Algebra

ABC

2nd April, 2022

S e

P.T.O.
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Slide:2
- Matrix Operations
» Matrix Addition
» Matrix Multiplication
Slide:3 e e SNLE A
Matrix Addition
[4J‘J+[11—'1}=1543} (1)
Slide:4 rent e vt AR DA SR

; Matrix Multiplication

]

BN

]

[; ;] (2)
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Stide:5

Thank You

(b) Write a code in LaTeX to

beamer presentation :

- ae y
i
}

|
Presentation i
Bob ’
Macch, 2022 E

- —— = Tt SO L B W0 |
Slide:2
\ Solve the following equations
1. x+2=3
2. x+)=4
3oa+1=1
i
; S 5
Slide:3 s e et ST

P.T.O.
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Slide:4

* Triangle

f

A triangle is a polygon with three edges and three vertices.

(0.0)

The End
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Instructions for Candidates

.- Write your Roll No. on the top immediately on receipt
of this question paper.

(Y]

Attempt any five questions in all.

3. Use of non-programmable scientifjc calculator 18

allowed.

1. (a) List five general specifications of 4 Multimeter

and give their significance,

PTi 0

R DS SOt 3.
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37
o resistance can be measured y:
(b) H d Using 3 PMMC
meter? Explain with suitable example

(6,4)

(a) Calculate value of multiplier resistance (R)

required for a 100V, ‘range on voltmeter shown
in Fig. 1
R DI
r A‘Uﬁgﬁf
i
i
™ Ein= 100 Vnns iy I = 2001
Y @
’ | e
k neter with
’ : , . x( millivoltmeter W
% (b) Explain the working ot an \C ml &
| the help of suitable block diagram-
|
4 Je ray tube (CRD M

") Discuss the role of a catho

front

1S qailable

' A - e - > %S 'i()t,
CRO operation. Also list the &

|
|

panel controls on CRO.
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h) ¢ v, tina | . ) .
(b) Compare the important features ol a conventional
CRO and a digital storage oscilloscope (DSO).

(5,5)

k]

(a) Draw the block diagram of a square wave

generator and explain its working.

(b) What are Lissajous figures? How these figures
the unknown frequency

(7,3)

can be used to measurc

and phase?

(a) Explain the working of a digital LCR bridge.

(b) Draw the block diagram of a multimeter. Explain

how 1t can be used as a voltmeter? (6.4)

(a) Explain how ramp signal can be utilized to design

a digital voltmeter?

ating error in a frequency counter?

(b) Wwhat i8 the g

. N . Ly C)
can be minimized’ (5,5)

How It
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- (a) Describe the working of a dua) g, g
> CRO. Expla:
plain

its various modes.

(b) Relate the loading effect ang i
Sensitivity of g

voltmeter.
(7,3)

(700)
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Unique Paper Code 42343409
Name of the Paper . Programming in C1f (SEC)

Name ~¢ . .
ame of the Coyrge B.Sc. (Prog.) Physical

Science / Mathem atical

Science
Year of Admission - 2019
Semester R,
Duration : 2 Hours Maximum Marks : 25

Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

2. Question no. 1 is compulsory.

3 Attempt any three questions from Q. no. 2 to Q. no
7.

(a) What is a constructor? Why does
a at I

.+ a return type?
not have d retu Vi (2)

a constructor

P.T_O‘

BT
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(b) Differentiate between a structure and g class.

(2)
(¢) Rewrite the following program after removing the

syntax error(s) if any. Underline each correction.
(2)
#include<iostream>
using namespace std;
int main()
{
varl = 1, var2=2;

myFunc(varl; var2);

return O;
}
void myFunc(int argl, int arg2)
{

argl = argl + arg2;

count<<argl>>arg2;

ng with suitable

(2)

(d) Explain function overloadi

examples.

= 5 for eaCh
(¢) Consider the value of x = 367 and ¥ ) 10

i
, At ig the value ©
of the following expression. What 1s.t

(2)
cach of the expression?




¥
=
o |
fad
‘e

{11} (X 10) 0 10
(11]) X*_._ 1 \ i
(‘\) X+ =Y
- ~ent 1O
~ , = . . " 1 . N ;l}_’.lnﬁnt
2. (a) (hnﬁgethﬁtoﬂouing\\hﬂcioopuodtffg. N
(<

an CqUiVaicnlfor§oop,

cin >~ X,
while (x'! 1)

-~ x << endl;

cout -

cin >~ X-

e

(b) Write & Lecursive function to return the sum of
SUtil 01

the first B qatural numbers. Show the stepuy|
execution for n =2 Mic
(3)

3. Write a function that receives two nump.
arguments and display® all prime numberg }MLIS as
these tWO pumbers: Incase no arguments ar“)ctwc( ,
e D&g%cq
P /

'[‘.v()
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K07
3 and (0 should be treated as (he det
i . s .. X ) :lull L
. ¢ functron [Tom m; , AT
Call (his un( ), with o, Bumepg
. » Yy Gy
(he (WO arguments from the ugey an Call taking
ang .
4
with no arguments. Nother ¢y
(5)
class A
i (5)
1
int pri_A:
protected:
int prot_A;
public:

int publ_A;
I
class B:private A
{
public:
void display()
{
pri A=10; (1)
prot A=10; (2)
publ_A=10; (3)




th
N
o |
(F8)
th

pri_A=10: (4)
prot_A=10: (5)
publ_A=10: (6)
B::display(): (7)

class C:public A

public:
void display()
pri_A=1 0; (R)
_A=10: 9

pelled (1) to (10), mention if
1

For the Statements la
e reasons.

re valid. G1v

thov @
LI Y &
o

P.T:0.
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write on in C++ which accepts a one-
dimensional

and replaces elements
[ue and elements having even values with thrice

functi
integer array and its size as arguments
having odd values with twice

its va

its value.

Example:

[f an array of five elements initially contains elements

as

34,5, 16,9

then the function should replace the content of the

array as
6, 12, 10, 48, 18. (5)

tandard

. Write a program that reads the text from the s
e a text file “File. txt”.

je) that accepts

e number of

input unit (keyboard) and creat

Write a function name count(filend”
the filename as argument and counts
characters and blank spaces pres

T
he output of the function should 0¢€ be

Xample helow
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Fxample:

[f the content of file are : Hello how are you Have

a nice day

The function count(filename) should display:
Number of blank spaces in file are 7

Number of character in file are 26 (5)

7. Create a class TwoDim which contains X and ¥y

coordinates as int. Define the following :

. Default constructor to initialize data members

with zero

I1. Parameterized constructor to initialize data

members with the values passed

[11. Function print1() to print coordinates of the class

Derive a class ThreeDim from the class TwoDim

assigning data member z in the derived class. Defipe

the following
. Default constructor to initialize data members

with zero

P.T.0.
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II. Parameterized constructor to initialize data

members with values passed
V. Function print2() to print coordinates of the class

Write a main() function to create an object of class

ThreeDim and print its coordinates. (5)

o

i

%
§
e
+
i
% |
)
!
t
v
3
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(S

(¢) Define preamble and Markup language. What is

the extension file of the latex document? Write

use package to include graphs in the latex file.

(d) Write latex code of the following:

L))

(a) Write latex code of the following:

?a:f(z) ! ‘(X al__ﬂ
2

(B=f(Z) and
| 3y | =
r=f();

-

(b) What is the difference between beginjequation;.
end jequation; and begin [egnarray;. end

iz

feqnarrayy.
(¢c) Write correct LaTex code of the following :

Sf(lambda x —(1- ‘lambdaly) leg lambda fixi—{1-
Jlambda )f(y),
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3

(d) What
Cl ].' AT .
s the difference between the follow1ns

C : i
ommands in latex?
(1) '\, and \:

(11) \vdots and \hdots.

3. Write the ¢ - g '
te the code in LaTex to get the following
(4

output :

(@) @) # T pd" "

nx n(n~1)x2 4

b) 1+x) =1+
1 2!

(c) 5t Vz
y
(d) Consider the sets ALALAS

then Al (\(AZUAJ - (Al M Az) v (Al M A;)-

aTex to get the following
o

(8)

4 Write the code in L

output :
(a) If A 1s @ given function of t then the difference

equation
X( - axl»-l + Al

Jution

hd;,‘ tll(’ ‘O
f" t‘ll l‘ \ a A "’" S0 e §

_ nl
)(l = aXy

‘P.T_Q_,
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(b) Consider the problem: max 2(),\'3 < 30x.
3x; +6x, <150
subject to fxl +0.5x, €22
‘ Xy +x;, <275
X1,% 20

(¢) Consider

xP+1 ¥P+1
nx—— % -1
p+1nx (p+1)21nx+c (p )

jxplnxdx=

(d) Write the LaTeX code to write the following :

a d
e

b
a=|® 1
J
n

o x@ o

h
L l
m p

5. (a) Write the command to draw an arc of a circle of

radius 2.5 units centred at the point (2

.2) making
an angle of 43 degree.

(b) Write the command in PSTricks to dr
following picture.

aw the




5690

(¢) Write tl
\ ¢ ¢ "y !
¢ command to draw a circle of radius -7

(d)

AN

(a)

5

Units center
s centered at the point (3,2.5).

Write the ¢
te the command in PSTricks to plof the

S (1
functiony = sm( ..... (6)

L X

Write a presentation in beamer with the following

content :
Slide-1: Title: Prime Number

Step-1. There ;s No Largest Prime Number.

Slide-2: Title: Proof

Step-2- Suppose the number of primes is finite.

Prime Number

Slide-3: Title:
Step 3 et P be the number of all primes.
Step-3. &
glide-4: Title: pPrime Number
Slide-4:

e ~ | 1s not divisible by any prime
Step-4- [hen P y any .

fore, p“; | 1s also 4 ;H,imc .
¢ &

P.To




6
3690
. - >pare a :
(b) Using beamer pr‘ep Presentatiq, With
following content :
lide 1: Title of presentation With ayth oy hame
and date
Slide 2:  Some trigonometry identities-
sin‘a + cosg = |
2 sina cosa = sin 2q
Slide 3: Thank You
(¢) Write a presentation in beamer with the following .
content:
Slide 11 Title: Real Number
Step-1. The set of real numbers is denoted by R.
Slide-2:  Title: Greek Letters
Step-2. Let ¢ = 3, =4 and y = 5.
Slide-3: Title: Triangle Inequality
: . . LBl <l + 1B
Step-3, Triangle Inequality: o° Bl < o * 1P
(d) : . o Wwrite the four
What IS beamer presentatlon? Wri A
a 2 ; N
dVantageS of beamer.
(200)
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1. Writ .
5 Attee your Roll No.‘ on the top immediately on receipt of this question paper.
) Mpt five questions in all. Question No.8 is Compulsory.

3. ; : i
Answers may be written either in Hindi or in English but the same medium should be followed
throughout the paper.

L 38U 0 & firera ot e Ry g P @i R oo srewie
2. PA T Uy i) WY W@ 8 Sfrarf 3 o b .
;ﬁ;v;%;?mmmmmammmﬁmmwmmmwﬁ

1. Describe in detail the following Raga:- (7
a. Yaman
b. Khamaj

fafaf@a et & aoft s
&, aAA
T. GATS

2. Write short notes on any two of the following: (7
a. Vadi, Samvadi, Anuvadi, Vivadi
b. Poorvang - Uttranga
C. Aaroh, Avroh, Pakad
d. Lakshan Geet

fofefEa ¥ A Rl & St feaft fafea
. qIa), FHATY, 3(earey, Rardy
. - FAT |

3T, TS

_+.'v> an account of life sketch and centribution of Pandit Ravi Shankar in the field of

dfoq et S aRaauEias e dee e A RRAY) 4

o proucanddes: ¢ thevarious sect - . instrument with its labelling ; (7)
2, Tebia '
R AR P R e IS R W rdeanemy
&, daem
1




5. Write down an essay on Importance of Lok Sangeet.

et w1 e Rwer R ey R

6. Give detailed description of Naad along with its characteristics.

TG, Y TRBTST AT §U I FAwaait e Reargds wagnd|

7. Write any five alankars based on the prescribed Ragas of your course.

S TI3THH b IR IR e 1 ufe srefepr RifRd |

8. Write the theka of the following tala with its Matra, Khali, Tali and divisions.

(a) Jhaptal
(b) Dadra ,
ot drer &1 31 Sua e, arel i R, " fofa
®. ST
. e

ammemen

7

(7

(7)

(10)
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of this question paper.
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s & fog Adm

L AE-T & R & SR R e feiRe e w gy

FwAe forfau |

2. mﬁﬁ%ﬁqﬂ?%(s)uﬁﬁ%ﬁsﬁw(nm&m

o T I & W 2

3. UedTh T WI@ ERE A (12.50) F1 21 T WS B 39 9

B

4. WHRY HAgoc B AN N FE 2
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A IR T AN ek B BT AR |

1. The following table gives the change in the year to

year sales (in percentage) of seven companies :

A. B, C, D, E, F, and G.

(6.5)

Change from Prior Year

Company Year | Year2  Year3
A =226 =332 472
B -4.5 -419  +244
C -18.5 =315  +249
D -294 -48.)  +248
E -1.9 -253 4123
F -1.6 -378 4351
G +74 -136  +297
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a2) Define the followi -
(a) Define the iollmwng tools and then describe which

of the f i . : : ‘
the following graphical tools can depict this

data in an efficient manner and why: Histogram,

Bar Plot, Pie Chart, or Scatter Plot.

(b) What do you mean by hypothesis? Is it necessary

to formulate hypothesis in every research study in

social sciences?

(6)

oy aferent || HUHAY: A B.C. D, E, F 3R G @&t f&eh
¥ G- -ae gedd (Wema ¥) @ 2

Change from Prior Year

Company Year 1 Year2  Year3
A -226 -332 +7.2
B -4.35 -419 +244
C —-18.5 -315 +249
D -294 —48.} +24.8
E -1.9 -253  +125
F -1.6 -378 4351
G +7.4 ~136  +297

(%)

oo el @ AR R TR A

ﬁ;ﬁqﬁaaﬂqmmﬁm{aﬂ%ﬂaﬁm
a&%%ﬁﬁﬁwmrmmn%dkaﬁiﬁammamtma

q , W Eh e

() fwe & SO F
g

waza &7 Fu Ao feey ¥
'ﬁa‘mmmTﬁrﬁmﬁmrﬁm?&mn3mﬂm5§7

P.T.O.
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2. (a) What is Rank Correlation? Write down itg useg
with suitable example. (6.5

(b) Explain the mechanism of compound interest rate
with suitabie example. If Bandana is Investing
Rs. 10.000 in a bank A for five years. The interest

rate i1s 5 percent and is compounded yearly.

Caleulate the interest amount earned at the end of

fifth year. (6)

(%) =i wedae a1 27 Ivgas Seowow afd z@@ S9N
forfag)

(|) UG ITEC Aied Uwgfg AW W & fFafaty
A SR R §e1 99 99 @ fow d% v R
10,000@@%37{@%1@?315%%
R A A adfow 2w A @ A
st A A R

o

(a) What is Internal Rate of Return (IRR)? Write
down the steps to calculate it with- suitable

example. i (6)

(b) Consider two investments, A and B with the

following cash flows. | ' (6.5)
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~ Period (Years)

~ CashFlowsof A(S)  Cash Flows of B(S) |

— —— - e
0 : -5,000 -5.000
S ———— . . o L l o . - )
1 1,000 | 0

|
|
|
|
—_— |
[
|
|

2 2,000 0
4000

3 2,000

|

—

f
4T T 00 J L0000
— | . e
5 ! 1,000 i 2,500
= o= = = = e

Which investment is more profitable if the cost of

capital of both investments is 7 percent? Explain

with detailed steps.

(%) Rest =t SR T (aﬁmm)w%?mm

F @Y EE AN HE D WO H fRag)

(@) ffafon Fad ¥aE @ @9 @ FEw, T Rk @ w

faan &

=T Cagh Flows of A(S) | Cash Flows of B (S) |
" Period (Years) __,,!,,_,_.\r-..m.»- e ko _ )
b ] -5,000 ; -5,000
| e i el e L R
T T 1,000 0 i
el e T e e e
ot R 2000 | 4,000
.; s e D S Bt
S | o g WD
T 1,000 ; 2500
2 [N e e e
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aﬁwmﬁ%ma%m%u&aﬁﬁaﬁﬁ

aﬁm7qﬁmé?ﬁ@awﬁa‘:m

|

4. (a) What is covariance? How we can calculate

covariance? Explain its uses. (6)
(b) The amount of monthly data usage by a sample of
L5 cell phone users (in MB) :

9.66, 5.90, 8.02, 5.79. 8.73,-3.82, 8.01, 8.35, 10.49,
6.68, 5.64, 4.08, 6.17, 9.91, 5.47

(1) Compute five-number summary of this
data.

(11) Compute Z scores.
(i11)) Are there any outliers? Explain.
(iv) Are the data skewed? If so, how?

(v) What is the command' for calculating Z-

scores in Excel for the above numbers?

(6:5)

(%) aEwaRw war 37 B GEWERW &) WU RY W aw
7 ga® S B
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(1) 15 A W AR (vl &) F agA g wfaE

BT Iy Ao

9.66, 5.90, 8.02, 5.79, 8.73, 3.82, .01, 8.35,
10.49,6.68, 5.64, 4.08, 6.17, 991, 5.47

(i) 3® %1 & ar" HE @ AW A A F
(i) 7 R & WA )

(iii) =an @ FIcey #7 @A A

(iv) @ ¥ fwen 27 af w, A& R4

(v) Jvee Geadt & fog g ¥ - A

U F & fau @ @ 27

5. (a) How to calculate Equated Monthly Installment
(EMI)? Write the steps to calculate 1t in Excel.
(6.5)

(b) What are the steps to proceed with hypothesis
testing 1n regression analysis? Explain with
examples, Type | and Type Il errors in hypothesis.

(6)

P.T.O.




3017 8

() A A T {Wﬁ)aﬁma‘,ﬁaﬁ?w
i A T w R R |

(w) vl fagemer # alvweTA g & A W T
3 fqu @ @ew 27 ufwesar ¥ o9 | 3R oy )
qfear @1 JamEo ARA GHEAEC

6. Write short notes on any two of the following:
(12.50)

(1) Kurtosis

(i) Time Value of Money

(iii) Primary and Secondary data

frafafaag ¥ 9 & 'th w Hftra feafirai foféw
(i) =wered

(ii) == & ' q=

(i) e AR s

(a) What 15 correlation? Interpret the following
(6)

T
correlation results.
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| Sample 1 [ Sample 2
1.2

2.

9]

8.7

o

!
l
6/ 11.4

9.1

4.2

20

Sample 3

130

120

120

10

10

10

——
1 Correlation

Sample 2

Sample 1

Sample 1

0.414

-0.07

S S
|

S J

Sample 2 ‘ Sample3 |

-0.07

. 0.4184
lo00 | -0.608

1.000

| -0.608

—

51! 12.2

10

(b) Explain the MS Excel steps for Freezing and

Unfreezing of Headers. How is it useful?

(6.5)

(=) wedsy @ 37 Fwfofan aedey TR R e

i

Sample 1 | Sample 2

12| 4.2

2.5 8.7

e T

3.6 11.4

—

-

Sample 3

Correlation

~ Sample 1,

Sample 1 ’ Sample 2 | Sample3
IR b . 1

1

0.414

Sample3

-0.07

0414 | 007

R SN

|
|
SRSLES

loco | -0.608

e -

R D :_m?_f._l, i o R -
a8 42 20 L o BN N

P.T.0.
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>

16
1
12
13
14
15
16
17

18

(@ )%ﬁ%ﬁmﬁzwﬁm%ﬁqmm
W F W F) qE Y ITEn 20

(a) Explain the concept of Regression analysis ang

describe in detail explained and unexplained

variations in the context of regression analysis,
(6.5)

(b) The following table shows the regression results

on the two variables X and Y. Y js dependent

variable (Annual sales) and X js independent

variable (Profiled Customers). (6)
— Regression Statisties
Multiple R 09208
RSquare 0.8473
Adjusted R Square 0.8352
Standard Etror 0.9993
Observations 13
ANOVA
df ss MS F Significonce F
Regression 1 66.7854  65.7854 66.8792 0.0000
Residual 12 11.9832 0.5986
Total 13 78.7686
Coefficients Stondord Error  tStat  P-value  Lower 95% Upper95%h  lower 95%  (pger35%
Intercept -1.2088 0.9949  -1.2151 0.2477 3.3765 0.9583 -3.2763 0.95331
Profied Customers 2.0742 0.2536 8.1780  0.0000 13216 2.6258 1.521% 2.62578

(1) Write down the estimated equation and
explain the relation between the two
variables. Interpret both the coefficients.

(i1) Explain the goodness of fit of the estimated
equation.
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(1)) Find out the degrees of freedom of the

explained, unexplained and total sum of

square. What is your observation regarding

the statistical significance of the coefficient

of Profiled customers?

(%) wiwrE R @ gEuRon @ e S 3
T R & ged ¥ wrem & T AR e
Rt o1 fAmr ¥ oW Fim)

(@) frfufae aferm & W @ AR 9 W AR
wRum R 21 9 e W (affw fslt) B sk
Teg @Wad W (NEEA WEF) B

e
3 Regression Statistics

4 Multiple R 0.9208

5 RSquare 0.8479

6 'adjusted R Square 0.8352

7 Standard Error 0.9993

§ Observations . 14

9

10 ANOVA

11 df 5S MS £ Significance F

12 Regression 1 66.7854  66.7854 66.8792 0.0000

13 Residual 12 119832 0995

14 Total 13 78,7686

18! { .

6 L Coefficients rondard Evor . tStat . P-valve _ lowerS5%  Unper95% lower 35%  oper 95m
AT intercept -1.2088 0.9943 12131 0.2477 33765 09588 M5 D9saeL
18 Profited Customers 2.0742 02536 81780 0.0000 15216 25268 13216 :'gzm

(i) srgeiAe e fetee AR R A ey
1 wren R AR oI @R A

i) s W e B A st
e w

P.T.O.
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(iii) ewen @ WS, FETClE SR A & HA A
weFar @ & & ua @ weEe fEwe
TES B IONE ® AREET AEA ®H AR H
T N ST 87

(5000)
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62313620

Understanding Text, Rituals and Orality in Indian
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B.A.Programme SEC
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(Write your Roll No. on the top immediately on receipt of the question paper) -

(e & e & T R o Ruffea & o st sgaais o)

Note: Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.

Mzﬁ%ﬁﬁ@ﬁm%ﬁ%ﬁqmwﬁﬁﬁmﬁﬁwwmwm

T € g AR,

Answer any five questions

1. How do texts, rituals and oral traditions serve as sources for the writing of Indian history?

T ThreTe & A A T i g, A Rerolt o AR s 4w vl 87

2, What are the key concepts of Subaltern Studies? How does it critically engage with other

historiographical traditions?

Farerd AT 1 V@ FTETOE FT 2 Ag o TRAETRE T F g e«

T I FEATEY

3. How have scholars critically engaged with the various kinds of archival documents.

A e & sfverdly Teamasit & ' R § swearer =1 R e wd

{

g

PT.0,

-

quiteR :.75_.
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AN

fl. In what ways has the colonial archive filtered our reading of history ? How have scholars
in the late 20th century critically studied these archives?

mm%mm%wmﬁmmammmoﬁw
% st & g A 37 ATSETIY 7 quEEATE HeAqT 9 fHar g2

5. How have historians engaged with the study of rituals and performance?

gﬁ@wﬁ%ﬁ%waﬁtaﬁ%%mﬁ%maﬁwﬁmi?

6. How have anthropologists engaged with the study of rituals practicés and performances?

e (Anthropologists) i SR-RATSit e s & e T e AT A AT

| fFmg?

7. How have oral narratives helped in the recovery and writing of histories?
wifes sweardt 7 sfage 71 17 oTH FET A et 7 e ST gEraan g2
6. What do you understand by the Munemonics of Speech? Discuss its significance in ways
histories have come to be written. '

ﬁﬁﬁwmm&mwm%?gﬁm%@mﬁ%aﬁﬁﬁwmﬁw
ERE
9. Critically examine the Imperial Gaz

Antiquities?
aroa & TR ToAfeaT (Imperial Gazetteer) T 2T F ‘{ﬁgﬂ{ AT Wgﬂﬁ (Annales
and Antiquities) FT AT e $1? ,

ettecer of India or James Todd’s Annales and

10. Write short notes on any two of the following
2. Adivasis in Colonial India
b. Voices from the partition.of India
r Report on the Census of India, 1901
" 6. Subaitern Studies Collective

-ﬁqﬁf@aﬁﬁ%’%ﬁﬂﬁfﬁﬁﬁmﬁﬁﬁq
a.a\"r‘xﬁr&fﬁwmﬁm

b, STCE % faaTer & ATt
o wafarerarét dre argardl ST qizfrgadad

d. FATeRs @Al

h|5]es (k)

- Y B e

(500)
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Mdximum Marks : 3%

Instructions for Candidates

] Write your Roll No. on the top immediately on receipt

‘of 'this question paper.

2. .'Attcmpt five questions in all.

 3 .'Qu.cstion No. 1 is Compulsory.

4. . Answer

s may be written either in English or Hindi;

but lhc same medium should be used throughout the

'baptL
g@ﬁ@/l i
R AR

3ﬂ'9ﬁ“"°r 3 : .

Wﬁwfmmﬁ?ﬁﬁavmwm
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g

) ﬁqmgs:{ahﬁql

3 mm@‘]aﬁﬂlﬁ%l

N WW—WJWWWW%WWWHMW
aﬁﬁmmmwﬁﬁmw|

2

¢ description of Raga Bhupali or

Writ!c imn dctail» th
(}i;)

Malkauns.

zm'ﬂwﬁ~aaarwmaﬁwanf%an*fﬁ:ﬁmm,,‘ii

Write biography of Pandit Bhimsen Joshi.

ﬁ.sﬂﬁ?a‘mﬁ‘aﬁ@aﬁf%ﬁam

Give a detailed description of any on¢ of the following
NV

music forms :—
(a) Khyal

(b) Dhrupad

4{1(44

Frafifrs % % f g e F T ™
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4. Explain any two of the following terms :—
(a) Sandhiprakash Raga
(b) Gamak : 135 types
(c) Tan evam uske Prakar
(d) Alap - Jad - Jhala
(=) afcamEm T <
(@) R 15 HER
(1) @ TE IqE TEFN
(1) S - ST ~ AN
essay on any one of the following

Write an ”
}
topics i~

n

(a) Rashtriya Ekta Mein Sangeet Ka Yogdan

(b) Vyaktitva ‘Nirman Mein Sangeet Ki Bhoomika

P.T.O.
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~J

2 4

-

Write any five Alankars in any one of the following

Ragas - ' 7
(a) Bhupah
(b) Malkauns

A

ffefaa % @ 6 Tt W # W9 geiER faRa

Write the Theka and explain in detail about

Chautala. | : (7)

diete @1 S frwaa JEE fawgE que I

and label its various

Make a diagram of *Veena’ "
| (7

parts.

from a7 o ey o e Ry ST @ e |

(200)
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Duration : 3 Hours Maximum Marks @ 75

Instructions for Candidates

Write your Roll No. on the top immediately on receipt

of this question paper.

Attempt all questions.

All questions carry equal marks.

Use of stencil 18 allowed for drawing outline of maps.

Answers may be written either in English or Hindi:

but the same medium should be used throughoyt the
u

paper.

P.T.Q.
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3293

1 s |

) sl v F T |

s mﬁgﬁ'é‘?"ﬂ?ﬂmél

4 nﬂﬁlﬁaﬁmﬁmaﬁaﬁﬁaﬁ%@%ﬁﬁa%maﬁ
yzqmﬁél

s @ s - ud @1 3 AU A B R v v ¥ A, A
T IE &1 AN UF A B iR

[. Define the science of climate change. Discuss the

impact of climate change with suitable examples.

VA URad @ frsmer @y aRefie dfg IRE e
F W A oy Rad @ g & e w

OR 3oyar
olobal

Ev :
tluate the role of green house gas 't o

%mﬁ%ﬂg%ﬁﬁﬁwmwmz



OR 3terar

Discuss social vulnerability to climate ch
suitable examples in detail.

ange with

m%ﬁ%wﬁﬁgﬁquﬂmmm%@a

Describe the impact of climate change on agriculture

and water.

wﬁwwmqﬁaﬁa}mmaﬁqwl
OR 3Tl

(he impact of climate change ¢op human
te
I1lustra

P.T.o
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4.

Discuss the global initiatives of adaptatjop to climate

change with suitable examples from South Asia

;@m@w%mﬁm'aﬁmaww
ygEed @ dffas UEe Wowe @ |

OR 3@t

Describe the role of local institutions in addressing

climate change.

oAy URET & W W g Gens @ s & ave
Eodl

Write short notes on ANY TWO of the. following:

(a) Intergovernmental Panel on climate change (IPCC)
(b) Impact of climate change on flora and fauna

(c) Nationa] Action Plan on climate change

%ﬁ%%ﬁﬁwmwm:

(%) T TRt s (s RAE)
(a)mqﬁﬁ?wmaﬁzaﬂﬂ~ﬁ@mm
) W%Wﬂ@umﬁm

(500)
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Duration : 2 Hours B . Maximum Marks : 38

Instructions for 'Can‘didates

Write your Roll No. on the top immcvdiatcl‘y on receipt
of this question paper.’

All the questions are ‘~<':o.mpulso’ry;.

Attempt any t\\o subparts of cac,h Part in questiop 1.

Each subpdlt is of 1 mark and wholc question |

s of
8 marks. ‘ e

In questions 2 to Q; aticmpt any . two p

parts. Each part is of 3 marks
of 6 marks.

Arts.out of fo

dnd each question g

P.T.()_
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Attempt any two subparts of each part. Fach subpart i

of 1 mark. This whole question carries § marks.

(a) (1) Write the R syntax for tan’x.

(1) If x=c(1.2.3) and y=c(2,2, 1) then print
(x"y) will give

(111) sample() command selects ________ elements
from data, (beginning/random)

(iv) In two digit number, —____ digit represent
the stem value in stem-and-leaf plot. (ones
tens)

(b) () —— command can be used 10 view the
data type of an object. (summari() class())

(1) names () command is used fy Viewing
names in data frame, (ro=.x,-s/c()11,11)l}q)

(111) Tables can be summarized using fha
’ .
command. (apply()/attach()) !

(1v) —— command 1s used to g,
: . Slerates the

sequence of 3 random numbey M
® o (o2 - (seq(3)/
rseq(3))

(¢) State weather TRUE or FALSE

(1) getwd() command is used to fing,
path of the files saved. s 58 _default

(11) runif(5) creates five random Ny,
‘bers.
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1nt
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es/
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'(i'\i‘) Dnta frames are one dimensional.
he BODMAS rule for the

(w) R follows t
athematlcal expressions:

cuh‘uons of m

(d) Smte weather TRUE or FALSE

(1) Is() command removes the defined

" yariable.
(i) parplot() command is used to makc bar
charts. -

A.‘(i"ii) R language is key sensit_ivg_l

- (iv) sort() _and order() commands gives same
outpul. :

2. Attempt any two parts. Each p"irt is of 3 1mrks

(a) erte 2 command to list all the vwrmbleq defined

endmg, with ‘b’.

“Write R syntax to store “Monday”, uCQday“
Wednesday’ * “Thursday”, “Friday”, “Sqturda\ 5
Qunday as a characters in a v'lrmble ‘dayn’.

(b) How will you convert a data fmme into a matrix
and vme -versa?

What are the differences betwcen saw() and
10’\(1( commands for files?

P.T.0.

o
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(¢) What is read.csv() command? Differentiate
between class() and str() commands.

(d) Save the commands in a file with name “data”.
Differentiate between Is() and Is.str() commands.

Attempt any two parts. Each part is of 3 marks.

(a) What is the command for calcul
of the numbers in the vector x.= ¢ (1, 2, 3, 4,5,
NA) in terms of x? ' o '

How would you use the se
the sequence of first 10 odd numbers?

(b) In each of the following
in the output.

() mat = cbind(c(1,2,3), 4:7)
(11) sort(matrix(1:9, nrow = 3))

(1) A = 111a;rix(1:6, ncol=3): B = 'I'na.trix(_l-;gi‘i:
ncol = 2); A*B‘ . e _

(c) Suppose that Data=c(7,8,5.5,3.4,4.6.9,7) is (1j¢

vector of the 10 numbers. D¢

scribe -the output of
the following commands : it g

g (i) length(Data)

(i) Data[c(1,10))

ating the average

q() command.to generafe |

, explain why there is erx:o_r :

(d\ In

be¢

4. CAtteg
(a) y
f

¢

(b) -
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(i) Data[Data>> | Data==3]

~(d) In ecach of the fol

lowing, find the difference

between the two commands

(i) sort(x, na.last = NA
FALSE), where X s a vec

along with NA entries?

) and sort(x, na.last =
tor of numbers

(i) o1, 2, ¢(3, 4)) and list(1, 2, ¢(3, 4))?

. 4. Attempt any two parts. Each part is of 3 marks.

(a) Write the commands to store the data in the
follqwm_g table as a matrix, and find the sum of
entries in each column,

Rl
R2
R3

®) \‘Vrite the commands to store the data in the
lillowing table as a data frame, and then ‘sort itin
the increasing-order of the entries in (he last

a6
; R
> 200 {35150
‘10 : 25 l 40 55

Column.

Bob
Alice
limes

HQnry

Y

Physics Chemistry Mathematics

81 |76 9
TR T %
8 |1 &
w8 T8

4
PO
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. - ands for
(¢) Given a 5x5 matrix A, write down comme:

{ o
_ ; : ui s the
making a 5x2 matrix whose first columm  ihe
first colunir of A and the second colum?n -

¢ 'S

last row of A. What command will you tar o
ke 1t a DX

remove the last column from A to mad

matrix?
(d) Suppose thal ‘Data’ is the following data frame.

Gender Age
Person-1 M 27
Person-2 M 26
Person-3 F 4]
Person-4 :M 34
Person-5 F 23

Explain what information will be provided when
the two commands str(Data) and summary(Data)

are run,

-

5. Attempt any two parts. Each part is of 3 mark
¢ S.

(a) Make a list “grass.]” with data:
“ow: 1116 19 10 17

unmow: 7 8 6 9
\

Also create a data frame grass.df frop,

using stack() command and name the oy grass. |

Umng as

‘rich’ and ‘graze’,



LAl

for

the
he

[0

4920 7

6

(b) Write the command of the following in R

" (1) Generate n random variables of the normal
- distribution with mean = 0 and standard
deviation = 1.

(i1) Select the random sample of 8 items 1n

~ which repetition of data is allowed from
the data named BA which contains 20
1tems.

(11i) Generate n random variables of the uniform
© distribution.

‘(¢).Given Datal: 3,5,7,5,3,2,6,8,569,4.5.7, 3,

4. Write the command of stem and leaf plot for
"the Datal. Draw the output. Write the command
which increase the number of bins.

' (d) Put the part (c) of above Datal in a variable *v’

.using scan() command in R. Also give R commands
for finding first five terms and the items less than
9 & more than 6 in the variable “y’.

Attempt any two parts. Each part is of 3 marks.

“The XYZ Company has 6 Products named A, B, C,

D, f F and their sales figures in Q1, Q2, Q3 and Q4

are given as follows:

&’(&"F@Eﬁ;&l 1 Q2
,:‘.,A,..m: 2k 120
LB _1 21 ‘,.§,.?:,‘..
EL\"TO_M..N.; iy ;...({Qw,....l ?.?.,-. o
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. o . . .' . s ; . tlhhe foyre
SupPOSC that the above data is expressed 1n the form
of a m

alrix named’ XYZ.

(a) Give R command of Box-Whisker plot for first
three. columng of

XYZ in ore graph.

() With the help of pie ok

art, write the syntax of the
following statements: '

(1) Express the Saies_of product A,

(i) Express Q2 results’ in clockwise direction.
(iii) Express tl-1'e~salés’olf product C gt
an anglc.cor‘responding to” the-po

arting at
hour hand ina clock when it ig 9

sition of
O clock.
(¢) Plot Cleveland dot chart of XYZ. Explain the “cey
and “pch” argument used in plot 'command.
(d) You have to express the
~ help of grou
following :

Ain't‘ormati_()n With (he
Fite the sypt

p bar chat. W A 0f (e
: (ij Make gro.up' bar ch;u'fl_. of matrix XYz
(ii)" Lébc_l _thé' x-axis & Yy-axis as QUARTER
"RESULT & SALES FIGURES “CSDCCtively_
(1i1) Use thc'argum

ent “legend”
- chart. RE R

n group bar

(200)
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aper contains 4 printed pages.]

Your Roll No....coeereees
Sr. No. of Question Paper : 5600 E
Unique Paper Code L 42163601
Name of the Paper . Intellectual Property Rights
Name of the Course . B.Sc. Life Science (Skill

Enhancement Course)
Semester : VI

Duration : 3 Hours Maximum Marks : 38

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

Attempt any five questions in all. Question No. 1 ig

compulsory.

qual marks.

1. (a) Fill in the planks (any five): (1x5=s5)

Q) puration for trademark protection in Indig

is /__/—_- .

P-’T_O'
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(i) Head office for filing an application f,
n for

registration of a design is gt

(iii) and

are
examples of GI handlooms in India
(iv) Plagiarism 1s a type of
infringement.
(v) A is an exclusive right

granted for an invention.

(vi) World Intellectual Property Day 13

celebrated on

el
and Artistic Works

he¢ ——

(vii) Protection of Literary
was first established at!
Convention.

. ‘ ias in India 18
(Vi) Protection of Plant Varielties

A
covered under —

ctl.
TRy ‘“;)
(b) Dep e e

1) Appellations of origin

M) Gene Bank

A P
1) Domain Name
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2

(1v) Trade secret
(v) Goodwill
(vi) Vienna Code

(vit) PPVFR

Differentiate between any three of the following :
(5x3=15)

(a) Patent vs. Copyright
(b) Bio-piracy Vs. Bio-prospecting
(c) Passing off vs. Infringement

(d) WIPO vs. WTO

(e) Trademark vs. Geographical Indications

Attempt any two . (7.5x2=15)

(a) Define Trademark- Discuss various types of

trademar

Defenses 1N Y

ks with examples. Briefly describe N

ases of Passing off.

P.T.0.
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(b) What is TKDL? Why was it established? Discuss
‘s structure and one example.

(c) What 1s meant by Sui Generis protection? What
are the criteria for giving a GI tag? Explain with

two examples.

(d) According to the Patent Act, what are Patentable
and Non-patentable Inventions? Explain in brief
the working of Patents. What are the objectives
of patenting Biotechnology inventions? Explain with

examples.




S R SRR SR RN SN

[This question p

aper cont

ams 4 printed pages. |

Your Roll No...ooooooeerees

Sr. No. of Question Paper : 5629 k.
Unique Paper Code 42343602

Name of the Paper o PHP Programming

Name of the Course © B.Se. (Program)/ B.5Sc¢.

Mathematical Science :
SEC

Semester © V]

Duration : 2 Hours Maximum Marks -

(g
N

Instructions for Candidates

L.

t9

4

Write vour Roll No. on the top immediately on receipt
of this question paper.
Q.1 is compulsory.

Attempt any three questions from Q2 to Q7.

(a) List four features of PHP. )

() How Jo we create a constant in PHP? Declare A

constant with name flower and value Rose (2)

hat will be the output of the following ¢ode -
hat wiit 2 -

(2)
P.T.o

() W




Sval = Sa && $b;

cho (Sval 72 'TRUE" : 'FALSE'),"\n";
Sval = $a and $b;
echo (Sval ? 'TRUE' : 'FALSE");

(?>

(d) Write PHP command to connect to a MySQL

server with address *127.8.8.17. (2)

(¢) Whatis the difference between substr() and strstr()

functions? Explain with an example of each.

(2)

lain
(2) What is the purpose of using $_ POST[]? EXP
3)

its usage with an example.

ecord 11 from the table

‘))) wher¢

(2)

(b) Write pHp script to delete a 1€
Oppr(UPC inbiger pp,“ntle \(IIC/I(II(
UPC is 42343602,

y wWe requir®

1o and
(5)

) why d¢

Wh:
at is g

regular varmloﬂ
= } ning Nan

them? Create an HTML form cont?!

h() sgsl(n
e Number, USlno renular expre
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(1) Check whether the entered name starts with an
“AH Or not.

(i) Phone numbers should follow the format "XXX-

" .
XXXXXX" where x is a number.

4. (a) What will be the output of the following code:

(2)
<7php

function increment(&$a)
{ ++%a; |
function decrement($a)
{ --$a; }
$val = 10;
echo "Value is = Sval <br>";
increment($val);

echo "Value after incrementing is = $val <pr".

decrement($val);

cho "Value after decrementing is $val <ppr.
e b

(?>

difference between an associative array
ed array? Explain with the help of an

3)

(b) What is
and an index

example.

P.T.o




5.

6.

4

Create an HTML form that gets Name of employee
and Basic salary entered by user in text boxes
Write PHP functions to perform the following

calculations (5)
(i) Calculate DA-

(a) DA is 5% of basic salary if basic is less
than 10000.

(h) DA 1s 10% of basic salary if basic lies
between 10000 and 15000.

(¢c) DA is 15% of basic salary if basic 15
greater than 15000.

ity Calculate HRA-
HRA is 20% of DA.

Qi Total Salary is sum of basic, DA and HRA

tier web application

What is meant by three
PHP in web

development? What is the role of

application development? W)
Lxplain the following functions with @ suttable
cxample
(a) ucwords() (b) mplodel)
L) substr replace() (d) diel)

(3

e) stripslashes()

(1000)
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Your Roll No....oooeeereees
Sr. No. of Question Paper : 5630 , E
Unique Paper Code : 42353605
Name of the Paper . SEC-4: Statistical Software-
R
Name of the Course : B.Sc. Mathematical Sc. /

B.Sc. (Prog.)-CBCS (LOCF)

Semester c VI

Duration : 2 Hours Maximum Marks : 38

Instructions for Candidates

|.  Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt all 5 questions, selecting any 2 parts frop,

each.

All commands should be written using language R

(a) Re ad the following stem-and-leaf p|o¢.
a

PTO
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I TP T
. decimal point 1s 1 digit(s) ¢ : )
The de p 3) o the right of tpe |

g 1028

78

Lh

9 115

10 | 1669

11101

Now give the data as vector *X* with R command.

Also write the R command to find the five basic

quartiles of the vector *x’.

(b) Put the list of values 7. 5. 9.2 [, 8,4, 2438

Y ey

Into a variable 'y’ Give R commands to find

the standard deviation of y and its decreasing

arrangement

(c)

Write the R commands to enter the characters:
Jan, Feb, Mar, Apr using the scan() command (0

.get Output: “Jan™ “Feb” “Mar” “Apr’.

(d) If data10=c(“Jan”, -..,Feb,. ’”Mar”, ;;Apru. .".z\_{ay-.’

li‘Ju ¥ 3 " y w wyatY “,I‘lte R
n , Jul , “Aug“, “Sepu, O(’{ )

¢ ' ¢ data 10
Ommands to first index the characters of data

q . < rs.
lphabetlcally, and then assign them a» pumbe




5630
Totul Uarky. i) w

RS Vi
(i1} Wiile k Comimands {
Iy ands tor the d' ‘
LR S EVNS $3Y ¢ lt‘uu'“‘ A and
arne Poanag ity

Haspoge

. Testl Test?
I 45 56
Y | 82
3 L6 |
4 | 58 48
5 | 91 7

Also name the rows: A, B, C, D, b and extract

the second column,
(b) Make a lList grass with data

mow .

, ) ( ° ]
unmow . 8 ) /
ate a data frame grass | by using stack()

syt nh? -
d name the columns a5 rich’ and

Also ¢re
command a8
'graxﬁ’ :

(¢) Create @ vector in Roas
" ‘ j o { l()
7 85 7 61 38 87

X: 6.2 o
. | nve 1t
R commands for converting )

Ve
Also #! .

$ and the [ukey sull
S PO,

ary values.
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d) P '

(d) Put the following values: 3,5,7,3,2,6,8,5,6,9,4,5,7,3,4
In a variable ‘y’ using scan() command in R. Also
give R commands for finding first five terms and

the items less than 9 & more than 6in the variable

$e,?

|
|
|
y
3. Total marks: 4x2 = 8
(a) Create a vector in R as

X: 62 7 85 7 NA 6.1 388 9 NA 10

Give R commands to find the meah, median, and

convert the vector X into integer:

(b) Put the following values into varitble y: 3,5 7,

Give R commands o find first f ms, the

«and items less

R , o,
position of minimum 1tem of )

than 9 & more than 6.
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(¢) Give R command to form a 3x3 matrix :

50 70 90
45 56 67
55 60 81

with row names : Mathematics, English, Physics

and column names: S, S2, S3, respectively.

(d) Write R command for a 3x3 matrix M:

ENG | MATH | PHY
Suraj | 24 28 ° |25
Tanvi | 18 19 20
Rahvi | 20 23 16

—

Give R commands to print marks of Tanvj In aj}

subjects. Also change row names to §1, S2 and

S3, respectively,

4 Tofal marks: 5x2 = 10

Giving R command to make a dyy frame dfs o

two-column with a response variabe (flower) and ,

predictor variable (site) :

PUTG




S TR EERIR—

er 19 17 1111012 [5 4 [7 161713 1415 3T Tr———
Tower 19 17 41 ottt |2 | 2 [J 10 (6 416
re 1AJAIBIAIBIC [BIBIBICIB B B/ CIBICIBiaA]
e ———— ]

Write R commands for any two of the following -

(a) Produce a histogram and also overlay a density
piot of blue color having line width 2 units with

gaussian kernel for the site ‘B’ only

(b) Produce a histogram for 50 random normal variates
data with mean and standard deviation from data
in part (a), and also overlay two density plots of
data one from part (a) and second from 50 normal
variates with gaussian kernel, use different colors

and line types.

(¢) Shapiro-Wilk normality test and normal quantile.-
quantile plot with a straight line for the site ‘B’

' only. Also using apply famlly command to produce
Shapiro-Wilk normality test for the site ‘A’, ‘B’

and ‘C’ respectively.

i roe of size
(d) Create a Portable Network Graphics 1mage ot >

f
650 x 450 pixels to draw a box-whisker plot ©

p ‘ i oreen color.
the data frame ‘dfs’ using light g
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< Total marks: 5x2 = 10

/7;‘0“

Giving R command to make a data frame ‘df with

data :
x 12 |8 13 _J16 (12 Jo 14 [7 15 |5 18 120 |
v 14 116 (18 13- [19 |17 |20 |14 [20 |11 12 |15 |

Write R commands for any two of the following :

(a) To draw a scatter plot of data points (x, y) using

gray color symbol ‘+’ of 2 units size and axis

labels with Iimlit.s each 0 to 22. Also add a line of
best fit for the data.

(b) Make a single vector ‘rain’ from x values of the

data frame ‘df’ to draw a bar chart with month as

names for the bars. Also label axes as ‘month’

and ‘rainfall cm’ with y limits 0 to 20 and draw

gray color thin dashed horizontal lines at 0, 5, 10,

15, 20.

(c)

Make 3 single vector ‘rain’ from x valucs of the

data frame ‘df to draw a pie chart clockwise with

month as Jabels stating at 9 o' clock. Also set the

¢olorg 1o six shades ol pgray.

PO,
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(d) Make a single vector ‘rain’ from x values of the
data frame ‘df’ to draw a Cleveland dot plot with

month as labels. Also set the color to blue and
plot character 20.

(200)
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St. No. of Question Paper : 2101 K
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Semester |

For students of recular courses
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min) - for SOL students only
Maximum marks : 70 (Part A: 30; Part B: 20; Part C: 20)

Instructions for Candidates

I. Write your Roll No. on the top immediately on receipt of this question paper.

2. For regular students, the question paper is
marks) and B (20 marks). Attempt
from Part B.

divided into two sections, Part A 30
three questions from Part A and any two

3. For SOL students, the question paper is divided into three sections, Part A 30

marks), Part B (20 marks), and Part C (20 marks). Attempt three questions

from Part A, any two questions from Part B and any two questions Part C.

4. Question number 1 from Part A is compulsory.

5. Answers may be written either in English or Hindi;

but the same medium should
be used throughout the paper.

oAl & faw Adw

1 mm—w%ﬁaﬁﬂmﬁqmﬁuﬁamwmmmu

PT.O,
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2.

1.

faafia o & Ry, woe 77 91 @S ¥ Wi 2, MW U (30 3E) IR RIS (20 3w) | W
U § A W gy e &Rt | FE @ us e

vaRTE o & B, w13 e e ¥ it 2, SR Y (30 3 ), R (20 39, 3k
VR (20 ) | W U R A e, WA A § A @ e a9 W @ wE A o

AW U | Y9 & | JAHar #

T8 W -0 &1 IR N a1 RS B v e ¥ A, SfFE e 390 &1 A oF @ e
w1f8Y |

PART A

(Q.1 is mandatory. Attempt any two questions

out of the remaining three questions.)

(7¥ 7 " |\ e 2 dy R g & @
= @t & 3vr dAfav)

Detine and explain the following in not more than 25 words : (5x2=10)

(1) Coral reefs
(it) Biomass
(i) Medicinal plants
(iv) Great Indian Bustard
(v) biosphere

PR ) sftreaw 25 v % oRwRE T W W

(i) 1 & e




o

Discuss how environmental movements contribute to environmental protection.

Give a brief overview of environmental history. (10)
TR FEAAT GEEReT WU A DA anEE od ) 9t o) | vateRer & 3fasw @ At
faaror @R

3.  What are the causes and effects of the pollution in rural ecosystem? Suggest

measures for control of Pollution in the same. (10)
e TRRuRE &7 A wguer @ ®Ru I wwE @@ 37 wgnw P & fw S gew

4. Discuss about the socioeconomic effects of mining operations and how they affect

the quality of our air, land, and water resources. (10)

| wE B AW - s wwE SR A EQ ag, W 3R I dEeE A Ao
Y TWRE & B, B R A Tt W)

PART B

Attempt any two out of three questions.

(= ¥ @ #F A/ g7 o)

5 Solid waste from different areas in one of the Indian states are summarized

below :

PTO.

vegen ey
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' S.No. | Sites | Solid Waste | Collected | Treated | Landfilled

generated (TPD) (TPD) | (TPD)
(TPD)

] A 4281 4013 2561 1371

2 B 10373 10283 6986 2167

3 C 1650 1650 1650 0

4 D 2167 137 | sa7 0 [316

5 E 22632 2301 15052 |1234

Based on the solid waste management data, answer the following : (10)

(i) Identify the highest waste generating site.

(i) Which site is relatively best in collected category and identify the cleanest
site.

(iii) Discuss how this is going to impact humans and suggest some measure to
control the same.

(iv) Suggest measures alternate methods of solid waste treatment.

ﬁmm'i%w%ﬁﬁwﬁ%a’mmmmﬁﬁmw%;

(@8 == 9 B)

g R | A | SuEiRd | dsfhe
@[ [T |G| @ag) | ona
T“TMWW 2561 1371
15 [ 108 6986 | 2167
g [0 |60 160 10
5 [216 1437|547 376
7“""”73"/%’3—2# ©|22301 [ 15052 | 1234




(d)ﬂa?fh'aammmaﬁmaﬁwaﬁu

(i) w3 St ¥ o & wee steTe wdew 2 AR W e e @ s W@

(iii)ﬁﬁ%m@wwm@m%&ﬁ?ﬁﬁuﬁam%m@m

G |

(i\l')mmw%maﬁﬁ%m@W|

6. The table below provides data on different types of ecosystems in India, along
with their unique characteristics and associated threats. (10)
Ecosystem | Location Unique Characteristics Threats
Type
Tundra Ladakh lC old, ucc]css..pcmlafrost. Cllmate change,
Oow-growing vegetation infrastructure dev elopment |
E X Western Rich biodiversity, dense Deforestation, habitat loss,
SEES Ghats tree cover, high rainfall poaching
Vast open grassy plains, S . B
Grassland | Kaziranga | presence of herbivores and C(?mersn_on to agriculture,
X : overgrazing
grazing animals ;
Arid. low rainfall, sand Desertification, water
Desert Thar dunes, adapted flora and L
fauna scarcity
) Mangrove forests, brackish | Climate change, pollution,
Aquatic Sundarbans water, diverse marine life | habitat loss
L
Based on the provided dataset, answer the following questions :
(i) Compare the types of threats faced by the Tundra ecosystem in Ladakh and
the Aquatic ecosystem in the Sundarbans.

(i) Discuss why the Forest ecosystem in the Western Ghats requires immediate
conservation attention.

(iii) Analyze the potential impact of climate change on the Tundra ecosystem in
Ladakh.

PT.O.
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(iv) Propose one mitigation strategy to address the threat of deforestation in the

Forest ecosystem in the Western Ghats.

A & 7 afrew wea ¥ R yar @ RRafaw 9 B aE-aa I ST et
I Gafrd @ad W e e @t 2

davgr | e | i Ry b I

&l T | 113 arefl aeafa 21 &1 ReTE /
T

N uftnft | ggg o9 fafderar, gem ga Wﬁa’ggigf

e {TaRUT, = N A1 /
freTer e e & e, FRAET /

BIGEIR BTG | MHTERT 3R TRA ardt ’
SRl ) gt SR R

[, HH aW, X & <1, TERAHROT, grit
T R sy Ty dksta | s

. Aia a9, @R O, Al | Srerarg ofad, :
vt X gl sffaw 3TaTd g1 e

Iqq@& FY T WAT B IR 1, Fefofea gt @ I @

(i) were ¥ g3 R T O ge A Tl AR 9T D W o T e
@ yER & geE &

(ii)wﬁ%mﬁwﬁﬁmﬁﬁmﬁmmmm%&ﬁm
w7

(iii) wer ¥ g WRRMRR o7 W woEy WRadT & aviid wwe @ e W

(iv)wﬁaﬁmiwmwﬂﬁﬁﬁm%m%ﬁm*mwm
OEIfy = wEE
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Y . . : ! tcati ‘

vsing the provided numerical data, analyze the implications for each renewable
CNETEY source in terms of applications, benefits. and drawbacks. Discuss how
these numberg impact the

adoption and implementation of solar power, wind
power, hydropower, biomass power, geothermal power, tidal pow
and bioenergy in India, conside

and environmental contribution

er, wave power,
ring factors such as capacity growth, cost trends,

S. (10)

- Encrgy Source |Installed | Annual | Levelized Cost [ CO2 Emissions |
? Capacity | Growth | of Energy (million tons)
(GW) Rate ' (LCOE)

e T S _ (INR/KWh)
. Solar Power 41

Power 141 [526% 250287 O T S—
| Wind Power 1238 1% 1243277 [Tss
Hydropower |50 ~5% 1200400 | <25
- Blomass Power | 10

ower |10 8% 350450 |5
- Geothermal 0.4 N/A | N/A N/A
!‘ Power ‘

CDidalPower 100 [NA NnA

e ) { “N/X —_—— ]
(WavePower 102 INA _INA InA
| Bioenergy 4 “T% 400600 <10

weH Y v wEmerE e @1 Iwan awd I, A 3R R @ f ¥ e
va\a%ﬁfﬁmmﬁﬁwﬁlwﬁ&mﬁ,mw@zm
Wﬁmwmm@ﬁmﬁmiwm,mm,mﬁm,m

m,l_mm,mm,mmmmﬂmmm@ﬁ
vl wEt #

L A o e —

wwar | fawre 7 | (LCOE) (INR/KWh) (Frfrger 2=
(sfreey)

o1 FAT 41 | >26% | 250287 |

45
e I N I N Y= A e

50 ~5% 2.00-4.00 :2;‘;2““"
e N T S ey 3.50-4 50 ~15
UATHIA TE7 |

T 7 . 04 @ AN A
- sﬂ'ﬁ T e e PO AUV U N W ;
?'irﬁ?:% 102 T AT T |
o BBl 7] Z7% 4.00-6.00 ~10 |
mate | —
(SRR

PTO.
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10.

PART C
(For SOL students only: Attempt any two out of three questions.)

(et Taigw ol @ . & 7 @ B @ g3 Fow)

With the help of relevant case studies discuss how development projects has

affected the ecological balance of the ecosystem? (10)

WS HE FEEA @ werar A v B Rew ok X aRfufE 53 @ aifafte
TG N DY wwifda far 27

Discuss the problems and challenges of hazardous waste management in

India. (10)

WRE ¥ @R JUANC EUE A ws AR el W e

From an Indian perspective, is sustainable development conceivable in emerging

markets? Elaborate. A (10)

mmﬁ,wmmﬁmmmt?ﬁmam.

(10,000}
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[This question paper contains

Sr. No. of Question Paper :

Unique Paper Code

Name of the Paper . Hindi Bhasha :
(Hindi-A)

Name of the Course Common Prog Group
Type of the Paper AEC

Semester I1

Duration : 2 Hours Maximuim Marks : 60

o @ forg FET
T 9 HGAT

é’rwﬁtfﬂqﬁu’fﬁﬁ

1 gaqﬁ—ﬁ%ﬁ'ﬂ%
Wfﬁﬁaﬁl

2. ﬂ‘aﬁuﬁqaﬁaﬁ%l

1 Waﬁﬁwﬂ%?mai”s'q' (12)

e

Waﬁgﬁmmmaﬁvn

2. @wﬁﬁﬂa&ﬂﬁwﬁﬁaﬂmﬁﬁ?l (2)

2
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Jrran

SESH RIE S E I Q. St -

ST |

Waﬁmwmmmw

3 sm%&ﬁﬁ@—ﬁ?ﬂmﬁmsﬁwwﬁtﬁéﬁm
T | (12)

HAAT

WEH W AT I A ® v woed Rl |

4. FEE AW D AR W W i | (12)
RG]

S NG 1 R? TR SR T QA FER A -
2, W i |

s Rt @ w R R (ex2)
() e 0 e
(@) ¥9R & W
(1) s e

() ¥ sfver (smeae- Ra)
(1000)
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Name of the Course
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7 mﬁ‘a.@gﬁéﬁ
LQW—ﬁ%ﬁaﬁﬁmﬁﬁmﬁtﬁﬁﬁmwm
2 et o s
1 ma%amwimgmmwm. (12)

Freran
Wﬁaﬂﬁmﬁmmmml
2. muhﬁwwmﬁaﬁgvu%mmm

¢ Maximum Marks - 60

2



ﬁwwa%qmﬁgvméfzmaﬁﬁmﬁw|

mmmm%w%ﬁwmaﬁmn

3
(12)

Frerat
Wmmmﬁ'.mﬁmmm.

nga%wg?amwm

o WA T W I F@
(12)

Jradt

e e o e 27 e P e A A

5. Maﬁaﬁwﬁwﬁﬁmr (6.6)
(i) fasmer @ feed
(i) wfwaes
(iii) e AR Hfgan
(v) sof-wd T
(2000)
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g@_%ﬁﬁfﬁﬂ
1 mm-w%ﬁaﬁﬁmﬁ(’mﬁzﬁﬁamwm
g fefe |
2' st e A 2
fafen | (12)
FAgal '

- mi"mml




2104 2

2
L.

e wRar & A Jeaftn wEeg w fAawes @ AEN
mﬁﬁaﬁaﬂ?ﬁﬁml (12)
rerar

=T Svae &1 aR9d 29 §Y TE fawn @ ewr guie S |

‘SmEe gar & aaret - e A sfwen’ fawm @ A A
&g fasmw Far =il (12)

JAqar

= T & AR A 8T A TEe & TR Rt W
I FHIY |

qEe Wiz WA g, @l & A fawg w v fad
Faw i | (12)
A

ﬂﬁﬁaﬂ?uﬁﬁwwﬁmﬁ%m%ﬁmﬁaﬁ
Y |

& &1 fawagy o oot farfee (6+6)
() T o % e @t & sfaew

(@) swemra ¥ wags @) wedl WA

(@) zezm

() arfses aef ¥ wafim doe @@
(1000)



A

[This 338 :
question paper contains 8 printed pagUS-I
your Roll NO.ooereret
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[nstructions for Candidates
ediately on recelpt

4
1. Write your Roll No. on the top imm
of this question paper-
d in a question answers should

erwise require
krit or in Hindi or in English
9

2. Unless oth
in Sans

l be written cither
l but the same medium should be used throughout the
| paper.
3. There are total 6 questions in this question paper
4. Al questions are compulsory
ik forg Gl
5
1 zﬂm—waﬁﬁﬂ%é’f‘&ﬂﬁ?wﬁtﬁﬁam
st ffe? l

P'T-O.
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ﬁm;gmjw;;;smwmwwﬁm
gt fell T , S T e e o
2y @ET |

ggﬁﬁﬁ?@ﬁéﬂﬂ%l

aaft v e #

o4 FRE F IEE Aed WE HIW | (5)

Explain with example Karta Karaka.

3rerdar / OR

T FWE T I dfed e P |

Explain with example Karana Karaka.

. , €
L (7 e % 3 e T
A ‘-

of ihe

ivc
: any M1
Wl’l[e lhc Specific f()rm ol ¢

“ .
ollowmg words :



2147

() ™ ) e
(i) = ot fanrine
(i) 7o Touy fanor
(iv) = ot fasifer
(v) o= e fasfes
(vi) 7= fadmar fawfs
(vii) e s fasifen
(@) ﬁw%ﬁaa%qmqﬁwﬁv%wm%‘

(5><1:5)
Write the fawfes and F=F of any fj
the

following :

l_]'(.»).



(1) ﬁwﬁﬁ%ﬁ%%’%%&ﬁ&%@m
fotfag - (5x1=5)

Write the specific form of any five of following

verbs :

(i) % - = wr, o e
(i) 9 - we 7R, 7o W
(i) fora - gz weaR, I T

(iv) T - | J&R, T T
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(H) WWWWW’WRWWW
(5><1f—>"5)

Write the OFR, Y and g== of any five of the
following :

I, AR, e, menfa, vy, A, T

3. WWWWW@@%@WW:
(5x2=10)

Translate any five sentences into Sanskrit out of the

following :




(5=5)

following

6
1147
. Yaited Tl A H KE ferafer B Fif
identify the inflection in any five of the
sentences -
(i) @ @ T |

(if) foramemafea: Sewte |
(i) = Tue =t |

(iv) T =

(v) e e

(Vi) arorer: gt fardfer |
Vii) T e, e

- AT
" i s % @ fd @ AR T

. “/
With the help of any two of the follo

Sentenceg -

]

Rt -, w3,

ing form 5

A

(gxlﬁz)

anskr!
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r‘O”OWing :

Fill in the blanks in any five of the

)

() @ v (it e, S

(i) wev e ___ (wofd, T, )
(i) ¥ geR (s, v, )

(iv) @ st (e, wEf, )
(v) & odf (foafer, foanfar, faaf)
(vi) e T (T T, )

(vii) € Hel FA (W, ey,
afeetd)

(@) ﬁgﬁf@ﬁﬁﬂ%aﬁﬁ{@aﬁﬁq (4X2=8)

Correct any four of the following:
(i) & 9o |

(i)t =efd |

P.T'().
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2. For regular students, the question paper is divided into two sections, Part A (30
marks) and B (20 marks). Attempt three questions from Part A and any two
from Part B.

3.  For SOL students, the question paper is divided into three sections, Part A (30
marks), Part B (20 marks), and Part C (20 marks). Attempt three questions
from Part A, any two questions from Part B and any two questions Part C.

4. Question number 1 from Part A is compulsory.

5. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

ot & fag fdw

1 W w-a @ e # ew Ry e RuiRa e w s s ol |
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2 frafia o @ e, we aa @ @ § fnfoe R, W g (30 3 ) 3 s At (20 ) | W
¢ A s ww e wm at d e Ao a

3 vastod ord @ frg, we ua e wd ¥ foafia 2, Y (30 i), s ah (20 3 ), A
s @ (20 M'm)lmtz%zhawm,mﬁﬂaﬁéﬁmammwﬁaﬁé%wwﬁn

4 O U A v s ) sifAart

5 I® Y- 9T & IH ﬁ@mﬁafaﬂm{mmﬁﬁfm,ﬁﬁﬂﬂﬁwffaﬂmmw:ﬁm

iRy |

PART A
(Q.1 is mandatory. Attempt any two questions
out of the remaining three que.s*lion&)
v e | e 21 3 e g A A
frdi @1 @ Fe0 A1)

| (a) Fillinthe blanks : (5x1=5)

(i) The non - living elements such as land, air and water are called an

component.

—
(ii) The first species that colonize a new area are called ———

are a non-renewable energy resource formed from the

(1l1) o

remains of organisms that lived long ago.
(iv) —— 1s an example of hazardous waste.
(v) The full form of UNFCCis
fram v W

(1) wfa, ag st 5w ECIRET ERT RS g S
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(i) fd ¢ & & a6 aelt Teel yonfa A e W 8 |

(i) — v W-Admoha F5 daed o a5 aea oa @ A9 d o
L&

(iv) —_  @ar fdfEee &1 gd 3em )

(v) UNFCC &1 we Wk 8 ____ |

(b) State True or False : (5%1=5)
(i) Ozone layer is found in thermosphere.
(ii) The running fresh water ecosystem is known as lotic biome.
(iii) The Rio de Janeiro Earth Summit was held in 1992.

(iv) About 10 percent of the India’s electricity comes from coal-fired power

stations.

(v) Sulfur dioxide released from burning coal is converted into acid rain in

the atmosphere.

& a1 A A

(i) o wa oA A o o @

(i) a7 A o @ R @ A ARE aEw & W A de o
(i) feh & seRar ged e weem 1992 % o fea mar

(iv) wRE A e 0 aReE Rl wiae wRe R R 3 s #

(v) Fad F AT A P A SRt SESage aigEed A e ad ¥ aRafde
i c i

PTO.
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2.

Write a short note on any two of the following : (2x5=10)

(1) Estuaries
(i) Apikko Movement
(iii) Bhopal gas tragedy
Fefefed & & Rl at woow dfra Rl ffe
(i) wafgar
(ii) MR snereH
(iii) Wt A" HoE
3. (a) Describe the effects of acid rain on man-made materials and monuments.

(5)
w1 A R 3k SR Wl oot @ awE & v @y

(b) How are human health risks caused by nuclear hazards? (5)

maﬁ%mmwmﬁmmg?

4. What are the key principles of ecological restoration? Giving a suitable

example explain how ecological restoration can restore an ecosystem to its original

(10)

wﬁ@afaﬁm&mﬁaﬁmé?wmmﬁgmﬁ
Pt ARt 1 A SER T R ¥ R e

state?
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PART B

Attempt any two out of three questions.

(= # @ = @ 597 Ffowr)

The various steps representing organisms in a food chain at which the transfer of

food and energy takes place are called trophic levels. (10)
(a) Construct a terrestrial food chain comprising four trophic levels. Label it.
(b) What will happen if we kill all organisms in one trophic level? Why?

(c) What is the maximum number of trophic levels possible in a food chain?
Why?

(d) Calculate the amount of energy available to the organisms at the fourth
trophic level, if the energy available to the organisms at the second trophic
level is 600 J. Explain.

T gEd ¥ W w RRtE & A f{A W W e sk S @ e
B 2, It wR wEA R

(%) 9 AR T T TE WA @ gEA O w) @ I D

(@) R T UE N T R 9 N @ AR T Q= Bnn? @

(@) frdt @ gEe ¥ I w0 R FEE e den e 2 e

(®) ﬁﬁwwﬁ%@mﬁﬁﬂﬁmﬁ,uﬁzﬁ%wﬁ

S & fow Iuwe el 600 J B =N @R

After the examinations Raman and his friends went for a small get together in a
nearby park. They carried along with them cooked food wrapped in aluminum
foil, paper plates, wooden spoons, water bottles, chocolate and chips in plastic

wrappers and some juice in tetra-packs. After they were done eating, they collected

PTO.

T S oL P S A R S
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all the leftover food and other materials and went to dispose of in the dustbins
nearby. There were blué and green colour dustbins in the park. Since they were

some confusions on which waste to throw in which dustbin, they decided to

dispose them off by burning. (10)

(a) In your opinion, is burning plastic an eco-friendly method of waste disposal?

Explain with reasons.

(b) Outline a proper method of segregation for the various types of waste

generated by Raman and his friends in the park.

(c) After segregating the available waste, what should Raman and his friends

do?

(d) If everyone in the park follows the same method of waste disposal, how

will it impact the city and the country? Please explain the potential

implications.

e @ T T IR AR AA U D 0F T A 0 D @ AAEW B O W I
mq@ﬁuﬂﬁiaﬁagmmgmﬁm,&w@z,m%w,wﬁm,
m%ﬁﬁmﬁzmmw—h#@@%mmmm%m
ﬁwg&rmaﬂtmmmﬁaﬂ?m%@mimaﬁmwﬁ
aﬁﬁzﬁm%@%méuaﬁ%ﬁmﬁ%mmi&ﬁ:ﬁwmmm
mﬁmm,mwﬁﬁmﬁwﬁmmmn
Mmﬁ,wwmmmwﬁmﬁmwm-aﬁg T 2?7 TR
afta wwarEd .
qﬁimﬁrmaﬁmmﬁﬁwm%Wﬁmma&waﬁa

ffy & TRE AR W
) maﬁw&ﬁﬁﬁmwﬁﬁm’ﬁ%mwmﬁ?

(1)
@)

(
(a).mwﬁiﬂﬁim’tﬂ%ﬁ%wﬁaﬂ%mwma}mmm

Iy W G IV TERN? FET VRTINS H)
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7. You have been selected to talk on “Ozonc layer and its protection™ in an

event on ‘Environment Day’. Prepare a small speech covering the following
points. (10)

(a) What are the major causes of ozone depletion, and how do they contribute

to environmental damage? Discuss three key factors.

(b) How can individuals reduce their personal consumption of ozone-depleting
substances? Share two specific lifestyle changes or practices that can

significantly contribute to minimizing the release of harmful substances.

(c) Discuss the role of international agreements and policies in the protection of

the ozone layer.

(d) Provide two examples of such agreements and explain how they have helped

in reducing ozone-depleting substances globally.

U ‘TR Rew W vE wE A AT WA AN @ E R A R R
T T # PRl fgsl A e F R T S W daR )
(3r) Ww%mmwi,ﬁﬁWﬁﬁm@ﬁ%?ﬁwﬂmmﬁ
w T W

X A AAT-FA FA AW T P A T R DY W A w37 D
- Sl TR A AR A A TR AERE Tl R g B e w
3 g ds T
Wﬁ@zmﬁﬁ&i%m%aﬂsﬁq-mﬁ
yz WA A

(®)

(@) s 7@ P

(@) @ma‘,a‘tm.
mamﬁmmiﬁ

PT.O.
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PART C ons)
(For SOL students only: Attempt any two out of three questions.

(mwmmam:m#'#wamaﬁm)

8. Define the following (any five) : (5x2=10)
(1) Hydrosphere
(i) Particulate Matter
(iti) Ecological Pyramid
(iv) Geothermal energy
(v) Subsidence

(vi) E-waste

Explain with examples, how Indian environmentalism wag able to foster a culture
x 4 A vy . 5
9. ] Snvironmemal stewardship and sustainability in the country. (10)
5 _

mmmﬁﬁwmh*WWWMﬁm
Y geE A A GEHA "l

0. Briefly discuss various categories of ecosystem services. (10)
10. Brie

yfRfufia @7 Aaa & e A w W ¥ = W)

(10,000)
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ol @ foo Fdw

1 W AE-T & fidd & W v ww RuiRe e w s
A fofay |
2. @t g FEE

1 Eye R EEY bl W I ) (12)
EDL |

o # FEAURI 3R AETE W weRm wfdv |

2. WU 3N TR & A d@u @ e @ (12)

]’.'l',()‘
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5.

HqAqdr

aaT AR AT G W @ Feeqn ucd 8- 39 HAT
F Te o |

Fdl S R T @ fe o feaw W s @i
FriwA W v A ffEw | (12)

rqdr

e ¥ ¥ e A fawa w sl fafe

FRA A S s e’ v W ade s fad
Jrerar

S @ AT TR @ e Hi

el @ W RO R (6x2)
(@) nafts Hqa”
(@) & & AW

(1000)
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srepeRaeR feIre |
2. Hﬁﬁﬁaﬁﬂﬁgl
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AAAT

WWWWW@W%@W%WWI
(12)

ol TWER FAE | AFA B g Jaw A |
ERE|

Fol 1 AR SfUiEE @ ovEE gl w e wif |
(12)

WEFN TR F JooRd FAT §C JAd THE S AR
gftaa forfen |

AAdI

Yo famfer R ey 27 09 fefa &1 v YT TR S |
(12)

sl @ fawdll W oo fofere (6:6)
(i) wreqor @6t foeroam

(2000)
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2. fafiesr Aeafdr aEcd W aigy e o faega @
EAISI (12)
Jreran
i feor @ iR @ aRed 3 g gE A 9o
i |
3. msﬁmﬁmgﬁmﬁwmmﬁﬁm%ﬁm
TR S (12)
Jrerar
e fEor ¥ s @ STAET q6e gY s -wET
wfFar &1 Jeoi@ DI
4. @maﬁf?urw‘waﬂaﬁ,ﬁaaﬁsﬂi’ﬁwwwﬁﬁf
Far el (12)
rerat
mﬁmwwﬁémm%ﬁmmﬁm
I daR Hfl
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gt feee |

P-T-O.
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g A B T B T W I g
e 1 T gy,

2y e |

gﬂmqaﬁ‘egaémé'u

o R A IR dEd T A | (5)

Explain with example Karma Karaka.
srerar / OR

Wma%amaﬁawml

Explain with example Karana Karak?

Write the specific for

following words :
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(v) o= gdmn Rwf

(vi) zeq e fawts

(vii) wfr woem fawfen

Frefaas feedl aiar T3 1 fRE va e ol
(@) iyl

a9 of any five of the
: faufss and 0 3
Write the

following :

P.To
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(vii) Sl

() Frafafaa & @ fel @ agst & v w
fetfeac (5%1=s)

Write the specific form of any five of following

verbs :

(i) ¥ - 7 FHR, 5 T
(i) o - 9% w@R, 749 Y
(i) &9 - Fe @HR, ITH T
(iv) # - 9z @&r, 79 T
(v) = - 95 w&R, 7o T
(vi) T - g 7R, I T

(Vii) W‘EW,WW
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o T [

(7) Fot W el W, I 5)
(5217

‘ the
Write the ¥R, T&¥ and @9 of any five of

following :

e, auR, s, wiew:, T, g, AT

3. ﬁw%ﬁaﬁﬁw%qfaamﬁfméwﬁ@wﬁm:
(5x2=10)

Translate any five sentences into Sanskrit out of the

following :
() T = A
(i) T W I L
(i) @ A

(iv) # g T

P'T-O.
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yefaa T2 # @ B ura g ¥ fRvfsr gmwe Fifev
(5<1=5)

4
[dentify the inflection in any five of the following
sentences

(i) za am =i
(n) a= ufta. w=miE=
(iii) 4 E__"{_%E[ T4 |
(v) araaw 8 e
(vi) arerer: faerg fasifa
(vii) B @rem |f |

5. ﬁﬁﬁﬁaﬁa@'ﬁ%ﬁmﬁ;ﬁ3m-aﬁw S
m?: (2)(]?:2)

With the help of any two of the following form Sanskrit

sentences

AT, FYH, U, |



e

2197
,

(%) fresfafer :
s A % 4 ekt a4 et
n u?)

#ifsm -
(52

Fill
n the bl: -
the blanks in any five of the following

(i) @ I sifrad)

[ty TS, e )

Correct any four of the following:

(i) o o |

(i) = @A |
P.T.0.
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ol @ fou fdm

] wm-w%ﬁaﬁﬁmﬁvwﬁﬁﬁamwm
FAFAE foRag |

2. ot dfe v @ IR Ao
3 oty # 3w |ue P

4. IR A K ¥ R AR N v & e w Iw@ R e
e

I. (a) Define the following (5%2=10)
(i) Biome
(i1) Solid waste
(iii) Environmental quality

(1v) Secondary productivity

(v) Ecological pyramids



(v) wfifeaf frofie

(b) State whether True or False (5x1=3)

(1) Lantana camarais a native species of India,

(i) Ecosystem conservation is a threat (o

economic development

(iii) Sustainable development is a myth than reality

P.T.0.
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.(iv) Asola wildlife sanctuary s ip Ahemdabag.
(V) Net Zero Programme means zero employment

HE A Mo =

(i) demn Fom wwa o w2

(i) witfeafoes o wemmr st frem @ fre @ 3

(iii) & foem amafaan ¥ s v o 2

(iv) 3N T=rita snamog srewemme ¥ 2

(v) ﬁziﬁﬁxﬁmwmf%mﬁml

Differentiate between the following (3x5=15)

(i) Biome and Ecosystem

(i) Fossil fuel and Solar energy
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(i) Hydrosphere and Atmosphere
frilefad ¥ o i

(i) =@ sk ufiffe o

(i) < $um 3k @k st

(iii) rerier i AT

3. Write short notes on the following: (3x5=15)
(i) Impacts of using sewage sludge on soil quality

(ii) Ecosystem services and cultural protection
(iii) Water conservation using environmental acts
Hfare fropoht fored:

(i) Wﬁww%%wm‘ﬁ#%

FECH

P.T.O.
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(jii) AR FRfdl 1 I W T wow

4. (a) Discuss the relevance of biodiversity for economic

development. (8)
(b) Emerging threats from climate change t0 India
cities. (7

TR TR A

. l‘h‘ {CJ B
el baﬂk by

In “hat W’ay, [gnOrlng land use at ! =) \«-‘mﬂ“”‘i‘ }
. ,vc.’ : &

t0 unm jon 1 ] in &
anageable water pollut ,emmcm ¢

Also, explain the focus of current @ B ¥
restoring the river Yamuna. {
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6.

fre 99N A9 9T W o Iwn 9 Ser w0 4 g A9
A FVEUAE W Wguor B T 2wy A, @ 98 @ Seier
H G WER B HrEE # e a3

Air pollution in metropolitan cities has posed several

economic and environmental challenges. Explain with

suitable examples. (15)

HEAG WEA H I WIWUT X wE w3k uataoim
TAfE w1 amen 21 Suges el @ | |wemEo)

Explain in details the ongoing efforts by India in
conserving biodiversity and protecting the
environment. (15

mmﬁaﬁ%ﬂﬂ%mﬁmaﬁrm%%\:
I W@ yaE & ffER ¥ avie a)

How can we minimize human-wildlife conflicts using
econumic methods Explain {n details with suitable

eXanipies (15)

P.T.O.
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7o A AGE I FAE

r e = > ' §Wﬁa |

0 A7 dHd B IIgFT  IerEvoy mﬁﬁ%ﬁ
AT i i
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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of this question paper.
This question paper has two parts. Both parts are compulsory.
Part A - answer any 3 questions (3 x 10 = 30 marks)

Part B - answer any 3 questions (3 x 15 = 45 marks)

PART A

Read the following passage and answer any three of the questions given after the passage:
(10x3= 30 marks)

[Passage by Hannah Reyes Morales from the January 2021 issuc of National Geographic
in the series ‘2020: Photographs from an Unforgettable Year. Morales uses photogmphy
to explore themes of resilience in life and tenderness amid adversity. |

Over the past few years I’ve been working on “Living l,l.lllubi.cs“, my project of how
caregivers create safer spaces for their children (I\I'OL}E‘;I] n'lghl*tml\c song and story, My
reporting partner, Rupert Compston, and | wc.m to the Turkish -Syrian border; for refugee
and migrant families there, lullabies were a piece of home that they cou.ld take with them,
almost as portable sanctuaries. We went to Liberia, where we s!mke wxll} young mothers
who'd had their babies as teenagers, and saw how they were singing hope in their lullabics.

Then we visited Mongolia, one of the coldest places in the world. To heat their homes,
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o

nomadic tamilies would burn coal, which of course pollutes the air. We met a mother who

sang lullabies with healing words when her children were sickened by the air.

hose were the places we had gone to, and we had a plan for the rest of the story. But

we had to shift to address this experience that we're all going through, the pandemic. [ got
to see what making safe spaces looks like in real time, with parents helping their children
navigate swiftly changing environments,

We think of lullabies as songs just for children, but they're also for the carcgiver. In the
context of the pandemic. we looked at how health-care and other essential workers were
still using bed-time rituals and lullabies, but in ways that safely isolated them from their kids.
One of the health-care workers told me it was very different from what she had always
thought protection looked like. Before, it was about being physically present - but now to
protect their children, she had to be physically separate, singing and telling stories to them
only through mobile phone and video calls.

[t was such a revelation to me., seeing this pandemic play out on a global scale and then
seeing it on the granular scale in different bed spaces. I'm proud that we are able to
continue a project that was very, very close to my heart and not let the pandemic derail it.

I. Comprehension question

(1) What does the project Living Lullabies do? What happened to the project when the
pandemic started? (2)

() Which countries did the author and her partner travel to? What are the different

kinds of mothers they met? 3)

(i) Why do you think the author says lullabies are not only for the children but also

for the caregivers? (5)

2. Write a summary of the passage in 60 words. (10)

3. Find one example of communication in the personal zone, and one in the social zone.,

in the above passage. (5x2=10)

4. In the above passage locate one example of verbal communication and one example of

- . V=1(]
non-verbal communication. - (5%2=10)

5. What different forms of communication do lullabies use? Give 2 examples from the

passage above. (5x2=10)
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PART B the
) ven after
tions given a
Read the following passage and answer any three of the ques
passage:
(1573=45 marks)

Virginia,

Your little friends are wrong. They have been affected by the scepticism ofa.I SCfing;el
age. They do not believe anything except what they see. They think that nothing ca X
which is not comprehensible by their little minds. All minds, Virginia, whether they be
men's or children's, are little. In this great universe of ours, man is a mere insect, an ant,
in his intellect, as compared with the boundless world about him, as measured by the
intelligence capable of grasping the whole of truth and knowledge.

Yes, Virginia, there is a Santa Claus. He exists as certainly as love and generosity and
devotion exist, and you know that they abound and give to your life its highest beauty
and joy. Alas! how dreary would the world be if there were no Santa Claus! It would
be as dreary as if there were no Virginias. There would be no childlike faith then, no
poetry, no romance to make this existence tolerable. We should have no enjoyment,

except in sense and sight. The eternal light with which childhood fills the world would
be extinguished.

Not believe in Santa Claus! You might as well not believe in fairies! You might get your
papa to hire men to watch in all the chimneys on Christmas Eve to catch Santa Clauys,
but even if they did not see Santa Claus coming down, what would that prove? Nobody
sees Santa Claus, but that is no sign that there is no Santa Claus. Th

€ most real things
in the world are those that neither children nor men can see. Did y

ou ever see fairjeg
dancing on the lawn? Of course not, but that's no proof that they are not there, Nobody

can conceive or imagine all the wonders there are unseen and unse
You tear apart the baby's rattle and see what makes the noise insid
covering the unseen world which not the strongest man, nor even t
all the strongest men that ever lived, could tear apart. Only faith, fancy, poetry, love,
romance, can push aside that curtain and view and picture the supernal beauty and glory
beyond. Is it all real? Ah, Virginia, in all this world there is nothing else real and abiding.
No Santa Claus! Thank God! he lives, and he lives forever. A thousand years from now,

Virginia, nay, ten times ten thousand years from now, he will continue to make glad the
heart of childhood.

eable in the world,
€, but there is a veil
he united strength of

P.T.0.
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6.  Answer the following questions:

(i) What is the question to which the letter is an answer?

3)
(i) What are the three things that the author compares Santa Claus to prove his point?
3)
(i) What is the argument that non-believers give against the existence of Santa Claus?
4)
(iv) What is the meaning of: ()
(a) Veil
(b) Rattle
(c) Grasp
(d) Dreary
(e) Glory
7. Write a paraphrase of the passage. (15)

8. Rewrite this passage as a dialogue between Virginia and her friend, discussing whether
Santa Claus exists. (15)

9. You have been invited by college students to talk about the topic “In this great universe of
ours, man is a mere insect, an ant, in his intellect, as compared with the boundless world
about him”. Write a public speech, using points from the passage. (15)

10. Write a letter of response from Virginia to her mother. (15)

(1000)
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